FF 5 M oE & K Ok BB BAL | BRBIBEMN
—. BAaER

301000180 |{EE B R kg 4578
301000185 | 4425 4; kg 4.230
301000210 | 5 VAR AR kg 3.266
301000280 |/ #:4NE Q235 kg 3.927
301000450 | #2440 Q235 DN50 (B J5.3.50mm) m 11.395
301000940 | 2% £5 4N & ©10 m 5.282
301001040 |45 4l <-59 kg 3.529
301001050 |44 44 -60x6 kg 3.529
301001130 | 4 1R kg 3.529
301001160 | #h#L @R Q235 kg 3.353
301001220 | # %% 4M R Q235 §2~2.5 kg 3.397
301001250 | # 4L 5@#HR Q235 52.6~3.2 kg 3.397
301001260 | #h 4| E @ 4N Q235 53.5~4.0 kg 3.353
301001330 | #u 4 E @ 4N Q235 88~15 kg 3.353
301001350 |4, ﬂg@@mﬁ Q235 510 kg 3.353
301001540 | # AL H @A Q235 t 3353.439
301001800 | # 4|, i@ 49 Q235 53 m? 77.480
301001880 | 9% £5 4Nk 52.5 m? 122.346
301001920 | P& £E4MHR 52.5 m? 79.432
301001950 |44tk 51~1.5 kg 3.617
301002000 | i FeH AR 40x5x120 R 30.989
301002110 |44k 22 8* kg 3.084
301002130 |4 sk 22 12% kg 3.129
301002160 |4 4342k 22 22" kg 3.172
301002260 | 4947 Hutk kg 3.178
301002455 |44k ©15.24 t 4230.006
301002480 |44 ®1.6 kg 4.847
301002570 |4 2248 ©8 m 7.050
301002820 |4 37 £ kg 3.266
301002850 | T HL.4H4 kg 3.266
301003110 [AR AN 22 O5LL T t 3000.136
301003180 | % £ £ A kg 3.636
301003200 |7 £ 4 L4 kg 3.310
301003250 | @494 t 3968.751
301003380 | #1441 /14N Q235 kg 3.310
301003385 | #FL A A0 Q235 kg 3.310
301003390 | ¥4 /4N Q235 t 3309.509
301003630 | #4251 f1 49 Q235 L40x4 kg 3.310
301003670 | #4554 M 4N Q235 <L50x5 kg 3310
301003710 |4, 2532 #1449 Q235 L60 kg 3.310
301004050 | #ALAt4K Q235 kg 3.442
301004150 | #4494 Q235 [10 kg 3.442
301004280 | #4 % 6|5 49 i HPB300 kg 3.266
301004330 | fh L 2% 4% (148) HPB300 d10LL kg 3.221
301004340 | #HL 613 4M i HPB300 ®10L4 | kg 3.266
301004420 | #4%L %[5 49 57 HPB300 t 3265.579
301004460 [ A B 4L 4 2 (75 2%) HPB300 010U A t 3221.648
301004470 | #h#L %[5 4475 HPB300 ®10LA - t 3265.579
301004530 | #% 6|5 89 i HPB300 22 t 3265.579




FF 5 M oE & K Ok BB BAL | BRBIBEMN
301004630 | #4 %45 89 i HRB400 20 t 3353.466
301004890 |44 kg 2.826
301004950 | 714K kg 3.353
301005130 | /534N 225 (ANEEEE) t 5901.411
301005140 | 7557 7749 175 t 3353.439
301005160 |4 HR {1 47 4% m 0.441
301005410 | 744 A1k t 3353.439
301005470 |44 iR -40x4 kg 3.529
301005680 | f44 t 3441.301
301005720 | HEE4M % DN20 kg 4.252
301005800 |44k i kg 3.969
301006070 |44 R kg 3.266
301006110 |41 kg 4,305
301006120 |44 2 t 3968.467
301006130 |45 kg 3.969
301006430 |44k m? 19.722
301006560 |44t (1 EHRD t 3353.466
301007000 |4 4e4m s m 23.728
301007010 | PE4E40%E 15 m 7.078
301007015 |#EE4NE @32 kg 4.232
301007020 | 4% £%40 & 50 kg 4.232
301007030 | P& £4ME D65 m 23.667
301007040 | 444N % ©80 100m 4069.898
301007050 | it EE 74805 DN32x3.25 kg 3.731
301007060 | 417 4% DN40x3.5 kg 3.731
301007070 | B S2 HME DN50x3.5 kg 3.731
301007080 | 417 4% DN50x3.5 m 23.728
301007090 | B SEHAR & DNBOx4 m 40.699
301007095 | 4% £ (7 H4ME DN80x4 kg 4.723
301007100 |44 kg 4.308
301007110 |44 m 15.489
301007120 |44+ ©100x4 kg 4.331
301007130 | 4445 ©140%10 kg 4,583
301007140 | 494 ©200 kg 4.486
301007150 | 444 ©51x3.5 m 23.728
301007160 |44 ©80 kg 4.372
301007170 | 494 ©80x2 kg 4,286
301007180 |44 (1 S br#ii%) m 15.486
301007190 | 4% #: (v 24 4E) kg 4.331
301007200 |4 # t 5323.113
301007210 | & O3254F 2N E m 238.894
301007220 |45 D325 T 444N 8)E m 247.761
301007230 | %42 404 kg 5.050
301007240 |45 kg 22.740
301007250 |45 ©80x2 kg 19.955
301007260 | 444N % ©108%6 kg 3.969
301007270 [ TE4%4M % D159%6 kg 4.364
301007280 | TS 4%4N % ©203%6 kg 4.378
301007290 [ L4443 ©32x3.5 kg 4.286
301007300 | TL4E4H ©377x10 kg 4.408




FF 5 M oE & K Ok BB BAL | BRBIBEMN
301007310 [ L4443 ®42x3.5 kg 4.364
301007320 | TL4E4H & ©50%3.5 kg 4.364
301007330 [ TE4%4M % D70x3 kg 4.286
301007340 | 444N ©70x4 m 39.678
301007350 |12% i 41 400, $ 240 H 8019.386
301007360 |12 7 W i £k 38 sr4M i 3 fe H 8019.386
301007370 |50kg #X%L 3 25 1 84 H114F 23 54.823
301007380 |60kg 443 2% 1 L 411 = 53.591
301007390 |9 5 24 teh, % 4 H 7402.510
301007400 |9 % W jir £33 7 4 L S d 2 H 7402.510
301007410 | AZY 5132 B A 4N GXIL12(A)-99 = 125.199
301007420 | AZ B8 3 B EEREAN GXIL12(A)-99 ESS 90.661
301007430 | BAL 513 & A EH GXIL12(B)-99 5 187.874
301007440 | B 51 30 B HAH AW GXIL12(B)-99 &S 72.412
301007450 [PV/CH 4 3% 2 Hihi B (44 i) m’ 271.426
301007460 | 4454417 0.6)5 m? 56.003
301007470 | AN 454Nk 0.6)5 t 4404.293
301007480 | ANEE4MMR 27K & m 111.478
301007490 | TN A0 b 80x40x3 He 1.542
301007500 | AMFBAN A4 22 D3.5 kg 19.344
301007510 | AN4B40 i A4k 22 @3.5 kg 6.240
301007520 [ A543 £ M3 (300<100) m 158.625
301007530 | A4 A A1k t-d 5022.801
301007540 | &1 7T 5 #,50kg 12" & 4 AW (Ve - K ) A 116996.591
301007550 | #5540 1K kg 4,847
301007560 | i 25 47 4 m 26.744
301007570 | Hi 3R AE R4 [E 52 14N GXZP2-03-1-1 = 149.495
301007580 |44 f 4 m 5.188
301007590 |43 i 4N kg 3.529
301007610 |44 i 4M -50x5 m 5.188
301007620 |94 Ji 4K -50x5x500 m 5.182
301007630 |454% 4 Q235-A kg 3.529
301007640 | 5EF fr 4 a4k ] 6.328
301007650 | fFILhR N 22 ©0.7~1 kg 3.442
301007660 | 9% KAk 9 22 ©0.7~5 kg 3.442
301007670 | i FILHR N 22 ©2.8~5 kg 7.138
301007680 |4k 240 HR 5=3 kg 3.616
301007690 | Hi4¥4K 22 ©0.7~5 kg 3.442
301007700 |9 £E4N 22 ©1.5 kg 3.442
301007710 | 944022 @2 kg 3.442
301007720 | B0 22 ©3~6 kg 3.442
301007730 |44 f 4 kg 3.529
301007740 |45 % f4N 50x5 kg 3.529
301007750 | H 5 14 L50x5 I 13.289
301007760 |4 44k 2k 18%~220" kg 4.847
301007770 |94 Ee 8k Lk ©1.5 kg 5.420
301007780 |9k £ EkLk @4.0 kg 5.420
301007790 |94 £ [ 4N ©10~18 kg 4.440
301007800 | 8% % 54X dLOLASH kg 4.440
301007810 | 574K t 3353.439




FF 5 M oE & K Ok BB BAL | BRBIBEMN
301007820 | (1H) %1 t 3617.023
301007830 |44 Fil F 17K 45 2507 m 85.816
301007840 |4t kg 5.621
301007850 |47 #Hk -150x50%5 He 1.542
301007860 |FXF e -50x5x500 He 5.147
301007870 | 4H k48 kg 4.408
301007880 |4 t 3239.220
301007890 |4X# 50kg 12.5m 1R 4172.381
301007900 |44%1 50kg 25m R 8344.027
301007910 | #4%h 50kg 25mH 44K R 6846.481
301007920 | 44%1 60kg 25m R 9779.825
301007930 | #4%h 60kg 25mH 44K R 9779.825
301007940 |4 %48 A 54.117
301007950 |44 50 4 14 A 14981.271
301007960 |4, 1 5:2; TXRI5mMmM’ 1.3m R 68.737
301007970 |4, 25 2% TXRI5mmM? 1.5m R 79.312
301007980 |4/, # 5:2% TXRI5mmM’ 3.0m R 158.625
301007990 |49 46244 50kg il 113.716
301008000 | #4441 60kg il 120.049
301008010 |4/, i%: B 4k 276/0.4 35mm” m 66.094
301008020 |9 {eh 45 115 &5 (475 i FH) 50kg 0.6m %of 34266.569
301008030 |41 {1 47 1% 2% (HF i 1) 50kg 1m ot 39538.235
301008040 | 4% {47 18 45 4% (M T FH) 60kg 0.6m %t 34266.716
301008050 |41 {1 47 1% 2 (HF i 1) 60kg 1m ot 39538.383
301008060 | 491 45 115 &5 (4 3k FH) 50kg 0.6m %of 31630.735
301008070 |41 {61 47 1% 2% (HF 2k ) 50kg 1m ot 35145.180
301008080 |91 45 1 15 &5 (4 3k FH) 60kg 0.6m %t 34266.716
301008090 |41 {1 47 1% 2% (HF 2k ) 60kg 1m ot 35145.327
301008100 |#A#LkL kg 4.926
301008110 |4 3 & 24n £ 880.158
301008130 |44 H1F 445 kg 4578
301008140 (4 77 TR 15k -+ 432 Al (HF 35 ) M 5% 180 = 24.084
301008150 |24 #73 Ve % - 43 Sk A (s B AR ) A v 250 5 34.501
301008160 |4 4 1R 5t 115 5 HLH: ©150%8.5m Ui 425.938
301008170 | g 541114 A 5.287
301008180 |4 pic (4 kg 3.529
301008190 |44F- & kg 5.032
301008200 | 44T ©22~25 kg 5.945
301008210 |44 48 e Y-27 = 7.676
301008220 |4k Y-127 = 24.843
301008230 |44 kg 4.847
301008240 |4142 13%~17* kg 3.442
301008250 |4x42 13%~17* m 4.847
301008260 |44 g%~12* kg 7.138
301008270 | 4224t 125% B 149.342
301008280 |4H 2 4% ©18 kg 7.491
301008290 | 444 48 ©18x10s kg 7.491
301008300 |44 2245 A R4 38 = 9.694
301008310 |4 4T 4 kg 5.067
301008320 | 444145 £ 19.388




FF 5 M oE & K Ok BB BAL | BRBIBEMN
301008330 |44 S i E kg 5.015
301008335 |44 37 42 J% B 4 kg 4.877
301008340 |44 3 $31 A 70.500
301008350 |4 37 42 kg 3.353
301008360 |44 4 iz kg 5.032
301008370 |44 R 5452.742
301008380 | H41: b it o 45 i Ji = 217.518
301008390 | = 3 8 4N 4 42 4% 50kg el 239.296
301008400 | =y 5i B2 AL 41 %% 60kg 4 248.994
301008410 | T E#h t 3617.023
301008420 | [ 5=k it kg 5.816
301008430 | J- A BLKE n T8 kg 12.318
301008440 | & 44X V)% ©300 Fr 101.450
301008450 | 54447 54.5~10 kg 3.353
301008460 | &40 5] 248 ©1.2x19L=1600 Ui 9.068
301008470 [#E4N% 5| H:4: ©1.2x19L=3600 i 132.918
301008480 |4 & 441K t 5022.801
301008490 | 44 B B 0.484
301008500 | T4 048 kg 5.286
301008510 |4 J& F 28 kg 4.935
301008520 | FF 5 i Jo2 [#] 52 #5489 GXZP2-03-1-1 5 454,649
301008530 | 7 AR 4447 A t 5022.801
301008540 |7 AR A B AL t-d 5022.801
301008550 |44k ©3.5 FEEENLE Uiss 38.775
301008560 |4 #Li#EMMR 1~1.5/F kg 3.529
301008570 |7~ £ T EL4M kg 3.969
301008580 |#B L4 25 kg 3.397
301008590 |#2L04H ©25 LA t 3397.371
301008600 | 124040 ©25LA 4 t 3397.371
301008610 | 1M 5=4.1~7 kg 3.353
301008620 |44 kg 5.287
301008630 | #7422 C 4R 1150x50 i 31.989
301008640 | iz %1, kg 4320
301008650 |42/, t 2650.550
301008660 | #1449 Q235 kg 3.353
301008670 | 4. Jmi£X Q235 100LA A kg 3.353
301008680 | #4%| Jwi4X Q235 30x3x220 B 0.591
301008690 | 4| Jmi4N Q235 60LL kg 3.353
301008700 | ##|, 4N Q235 A36x40 kg 3.353
301008710 |# AL A 4% Q235 L2000x100%10 kg 3.310
301008720 | #4L A 40 Q235 [16 LAY kg 3.442
301008730 | #1FLf4H Q235 120x53%5.5 m 34.486
301008740 | #4255 #1449 Q235 L50~140x5~14 kg 3.310
301008750 | #4232 £ 49 Q235 L50%5 m 11.022
301008760 | #4253 f1 44 Q235 L53 kg 3.310
301008770 | # 4 %10 F 49 Q235 L63x10 kg 3.310
301008780 | # L4514 149 Q235 L63 LAY kg 3.310
301008790 | # % T. 54 kg 3.397
301008800 |44, T 241 14" kg 3.397
301008810 |44, 1574 14%(16%) kg 3.397




FF 5 M oE & K Ok BB BAL | BRBIBEMN
301008820 |44, T 24 25" kg 3.397
301008830 |44, 1.4 25% (2%) kg 3.397
301008840 |44, T 24 32 kg 3.397
301008850 |44, T =241 40" kg 3.397
301008860 | #%L T. 54 4000x200 i) 53.386
301008870 | #FL % [ 44/ HPB300 ©10~18 kg 3.266
301008880 | #4% )¢ [ 4% 45 HPB300 d16 kg 3.266
301008890 | #1765 89 il HPB300 22 kg 3.266
301008900 | #4%| )¢ [ 4% 5 HPB300 d25 kg 3.266
301008910 | #v4L )t [54 4K 7 HPB300 ©8 kg 3.221
301008920 | #h#L @R Q235 1200x2500%10 He 779.406
301008930 | %[, i 44 Q235 1500x2000%5 kg 3.353
301008940 | #h 4@ #HR Q235 4.5~20 kg 3.353
301008945 | # A LR 5-16~20 kg 3.353
301008950 | #4LHi@ 49 Q235 Q235-A §=0.5~6 kg 3.397
301008960 | #h 4|, LE 4N B Q235 Q235-A 5=10 m?2 252.871
301008970 |# L HH B4 Q235 Q235-A §=8~30 kg 3.353
301008980 | #1 4| @ AN B Q235 51.6~1.9 kg 3.353
301008990 | #14|,E@E AR Q235 514~16 kg 3.353
301009000 | #h 4| E@ 4N B Q235 81514 4 kg 3.353
301009010 |# 4| E@AIHR Q235 545~60 kg 3.353
301009020 | #4154 @4 kg 3.825
301009030 |4#t R 352.500
301009040 |2kt m3 5.287
301009050 |2k BAHT T30%! £ 90.038
301009060 |4 #1443 50 o 37.442
301009070 | 714K t 3265.578
301009080 | 714 T 4K t 3485.231
301009090 | 1 4M (- 242) kg 3.353
301009100 | 4N (£ 4) t 3836.675
301009110 | 5= /& 49%1 50~60kg 12.5m Ui 5799.716
301009120 | 7 JE4N% 50~60kg 6.25m i 2900.300
301009130 |EQAEAR R 55~7 m? 180.656
301009150 | J5L4MAR kg 3.353
301009160 | 0ol 4h 22 F A9 GXILO7(B)-99 5 41.956
301009170 | Hr Lol 45 T B 48 (A 5 22 44) m 6.107
301009180 |44k # R 320x500x18 104 432.904
301009190 |k # 4R 490x500x18 105 659.606
301009200 |44 80 t 3748.814
301009210 | #0240 3 48 t 4847.078
301009220 | 4H & 4N F A4 kg 3.529
301009230 |4 A4R 1% kg 3.310

—. At&RE
302000070 | 545 m 6.785
302001000 | #.[5] £ 48 m 5.143
302001010 | #4717 -50x5 m 141.396
302001020 | T 5248 m 2.908
302001030 |HE4H m 14.276
302001040 |47 4 kg 7.715
302001050 |44 i % m 1.762




FE M oE & K Ok BB BAL | BRBIBEMN
302001060 | #4445 85mm m 3.922
302001070 |4f 25 m 29.082
302001080 |4F 50 m 51.879
302001090 |4 14K ®25 i 586.536
302001100 | 4 £k m 293.122
302001110 |4 & TMY100%x10x2000 m 321.657
302001120 |4fH -50x5 m 127.782
302001130 |42 35mm? A 2.283
302001140 |46 % kg 21.980
302001150 |4 B8 46 £ 254,960
302001160 |4t A 88.125
302001170 | M F45 m 27.125
302001180 | L4 4K kg 20.750
302001190 |44+ -0x5 m 67.856
302001200 | 4 4 HE -50x5 m 86.363

=. A B
303000020 |42 7544 m3 1200.054
303000100 |3 A m? 1187.715
303000120 |# A m3 416.295
303000180 |5 A 4% m? 1200.054
303000230 | & & AR m? 1114.336
303000300 [[iz 4t (F.52) m? 18.048
303000340 | iz & HR 18mm m? 36.095
303000480 |42 — 25 4 m? 1114.336
303000550 |3 75 #h A m° 1490.439
303000580 | Atk m? 1019.900
303000610 | A kg 0.264
303000690 | AHE R m? 1200.054
303000700 | A £ 4% m? 4.991
303000720 | A% kg 3.863
303001190 | i A m3 1028.618
303001200 |5 A FAA m? 1028.618
303001210 |[Fl A & 63~138x22 B 0.441
303001340 |77 F 4R m? 27.070
303001490 |#i A< m3 1200.054
303001530 | H iR m? 22.889
303001560 |#iA m3 1309.746
303001800 |47 54 kg 686.687
303001810 | #4744 m? 1151.692
303001820 |5 A m? 694.814
303001830 | 75 /K 250%200x3500 R 169.031
303001840 | &4 5mm m? 11.885
303001850 |z &K 7mm m? 21.569
303001860 |44+ m® 694.814
303001870 [ A4R 1000x200x50 He 12.853
303001880 | AHR 3000x4000%10 e 154.065
303001890 | AR id4 m? 1766.720
303001900 | A 7 k. m? 1973.193
303001910 | A #4 m? 1433.691
303001920 | AcHEidA f} m? 694.814




FF 5 IR BAL | BRBIBEMN
303001930 | A& A4 m? 1200.054
303001940 | A3k kg 0.299
303001950 | A4 A 233.297
303001960 | AFL 1125 e 142.635
303001970 | AHr12% Jics 139.069
303001980 | A ¥ % m? 694.814
303001990 | @ AR 83 m? 18.048
303002000 |#£ A %% m? 1063.831
303002010 |4 Z4R #i b4 m? 1063.831
303002020 | ¥ 2 AW 4 A4 (I s 44) m? 1327.414
303002030 |#4 2% 5 A m? 1063.831
303002040 |FA 24 BLIBHR m? 1415.275
303002050 | fifi 8 A m’ 1485.564
303002060 |# AR (J7) m? 1415.275
303002070 | J5i A (& A) m? 1200.054
303002080 | 44 J A m? 852.964
303002090 |74 m? 8.856

9. RERREE BoKUi &
304000010 | [ 7K % kg 0.675
304000080 | &2k (XW) A 0.546
304000190 | 45 & fif:iz £h /K e 32.5" kg 0.297
304000200 |45 4 it £ 7k I 32.57 t 297.176
304000210 | Hr itk g 5K e kg 0.297
304000220 |t @ ik % 7K e 42.5(R) kg 0.392
304000230 | ¥ EE R £h /K Y 52.5(R) kg 0.666
304000740 | i R e 1= m3 149.570
304001000 | 4 4 TRt 4 ©2600%200 m 1672.700
304001010 |47 7R 4k % ©3000x200 t 2465.031
304001020 | 24 7 R ¢ 115 5 HLAE ©150x11m i 552.838
304001030 |12 % m? 16.938
304001040 |3 ¢ +- 2 kL50kg 127 (FLIF3H 4% ) A 33982.218
304001050 |yt 1 7 #i50kg 9F (B FFiE 72 ) H 33453.997
304001060 |3t +- 2 kL60kg 12" (P I8 7% i) A 33859.846
304001070 |yt 1 71 ki60kg 12° (3 4) H 33859.846
304001080 [yt -+~ 7 kk60Kg 9 (34T 7% ) H 30566.389
304001090 |yt 1 75 #k60kg 9F (L #384) H 30566.389
304001100 |yE#%% 1+ K-t izt 103.884
304001110 |y ¥k L= bk K- ek i 367.994
304001120 | 7Rk L3t ki He 83.635
304001130 | R %k L ik 4a bk i 83.635
304001140 |JR#E a4 b He 83.635
304001150 |JR%E 45 4k i 70.429
304001160 |yE%% 1+ &k B 70.429
304001170 |y &k L4 B2 m® 466.125
304001180 | & T ALK KT kg 0.507
304001190 | K 7K Ve kg 0.675
304001200 | ¥-im@EERR £h /K JE 42.5(R) t 391.355
304001210 | i@ EFR £ /K P 52.5(R) t 630.781
304001220 | 42 5 VR4 1 /N 2 Lo TER 190x190%90 B 0.690
304001230 | %2 53 Rk /N 2 Lo )R 190x90%90 h 0.596




FE M oE & K Ok BB BAL | BRBIBEMN
304001240 |42 R #4E /N 2 OB 390x190%190 He 3.021
304001250 |FLIR K I kg 0.753
304001260 [,k yg 4T 10° A 0.080
304001270 | 7K ¥ i e ~FAR m? 7.715
304001280 | /K TR EE L3 iE C20 m? 342.873

fi. B R KB 4
305000080 | £ fLi% 240x115%90 Tt 437.117
305000085 | % fLi% 240x115x90 e 0.437
305000260 |V 7 4 kg 0.399
305000390 |#: A 10mm LLPY m® 33.998
305000400 |#RA 20mm BAA m? 33.998
305000410 |47 40 m? 33.998
305000420 |#kA 40mm BLA m? 33.998
305000430 | ¥4 m? 87.423
305000500 | & m? 45.891
305000590 |#) m3 67.381
305000610 |#b-7- kg 0.003
305000620 | 4= 47 7% kg 0.259
305000630 |4 £ /K t 249.412
305000690 | £7 Bk kg 0.299
305000700 | 7 Befb kg 0.074
305000750 |4 m? 52.446
305000770 |#% 4 20~40mm m3 52.446
305000790 |#445 16mm LLPY m® 52.446
305000800 |4 A 20mm LA m? 52.446
305000810 |47 40mm m? 52.446
305000820 |4 A 40mm LA m? 52.446
305000830 | et m? 11.656
305000900 |41kLA m? 97.137
305000910 | 41#» m® 76.907
305000920 |87 K kg 0.799
305001000 [ (4 b m? 67.381
305001010 | (4H) frb m3 76.907
305001020 | b (F-i%) m3 67.381
305001255 |#RA 70mm BLA m? 33.998
305001300 | 4 m? 68.377
305001510 | & b A m? 52.446
305001610 | & m? 46.877
305001625 | #4471 5~40mm m3 52.446
305001665 |45 25mm LA m® 53.425
305001670 |#% 4 50~80mm m3 52.446
305002000 | ¥ x% t 69.836
305002010 | # w5 Hf m3 29.930
305002020 | B fy m? 42.227
305002030 | B 4f it t 179.576
305002050 | b4 m® 67.381
305002060 | #4710 t 11.392
305002070 |#4 45 104 m® 52.446
305002080 |4 47 5~70 t 32.779
305002090 |t By m? 42.490




FF 5 M oE & K Ok BB BAL | BRBIBEMN
305002100 | g ki I E AT 390x90x190 T 1573.218
305002110 | g mIbB AL 190x90%190 T 765.921
305002120 | P ki i HC AL 390x90%190 T 1408.589
305002130 | gD 190x90x190 T 792.332
305002140 | b kg 0.040
305002150 | b t 39.636

N BEERER
306000010 | gl 45 m? 1.685
306000440 | 7K 3 38 kg 0.537
306000700 | A4 AR {1, 35 525 [ b7 m? 308.438
306000710 | 3t s ok 52t A 4,075
L. BB AR ]
307000030 |7 & f ¥} 7 A 0.441
307000035 | & & ke m 25.529
307000370 | 5 5 £ ) v i kg 15.525
307000540 | 3334 %3} m? 1623.111
307000730 | %8 s} v fii m? 1.764
307000735 | HEETE A 4.714
307000740 | ¥ | 45 kg 16.425
307000770 | ¥k 20mmx40m kg 16.866
307000940 | kL 11 (40 HI) 15~20 A 0.247
307000950 | #2471 (#ME HT) 70 A 0.660
307000970 | % k14 O ($X% H) 100 A 0.986
307000990 | ¥t A s 20mmx50m % 3.281
307001100 | ¥ EHE K & ¢6x35 H 0.249
307001110 [ ¥ EHE K &5 ¢6x45 H 0.340
307001140 | F Rl & kg 12.325
307001150 | #8555 @4 m 0.205
307001160 | ¥k #E @5 m 0.233
307001170 | #4155 @6 m 0.261
307001180 | ¥k #E @7 m 0.318
307001210 | ¥ kL5 @10 m 0.477
307001215 | BRI D16 m 0.480
307001320 | # L2k~ @15BA T A 0.156
307001370 | k| B i % 3.229
307001390 | #I#HiKk & @6 A 0.141
307001400 | BRIk & ©6~8 A 0.150
307001410 | ¥}k 2 ©6~9 = 0.150
307001420 | ¥k} LKA m 57.339
307001440 | fihi kg 7.376
307001450 |#£ 54 2mm m? 15.878
307001460 | 4% 3mm m? 17.144
307001465 |#£ 54 3mm kg 11.644
307001590 |45 /e phy m 4714
307001900 | {4 i 1k /K ¥ m 57.339
307001920 |4 fz # 62 m2 20.097
307001980 | = AU ¥E KL ©2.5~5 m 0.810
307001990 | - Y ¥R @5 m 0.810
307002120 |fifi ¥} 45 Dg32 m 4.205
307002320 |Ji4 @50 m 11.409

10




FE M oE & K Ok BB BAL | BRBIBEMN
307002325 | & e 5 050 m 18.772
307002340 |14 iz m 17.432
307003100 | KB I EL 8 (B LIS IR B4R = 264.638
307003110 | I 48 My e B 3 AT AR 3240 6=8 kg 37.164
307003120 |z 7 50%30 B 3.970
307003130 |4k iz i3 25 e kg 28.969
307003140 | T & Bis i vk 20k} kg 15.332
307003150 | S & Ba k455 600L 53 32.418
307003160 | T % fik 2. 414 kg 20.289
307003170 | 5 L)L ik SRR 30/% m? 12.129
307003180 | 52K £ i b v o 28 m’ 306.627
307003190 | R A 2 M 2 kg 9.307
307003200 | RA LMAHEAHT AL B, 4%, % 3.652
307003210 | FEPU SR £ 4% A= Ky d=20 m 0.662
307003220 | KR IREEH 85 m? 17.025
307003230 | 3k 1% kg 16.760
307003240 |5 2. % 3.899
307003250 | Ay fh £k iz 3k A 41.460
307003260 | a5 Aii% ik % kg 7.798
307003270 | & T ki % kg 15.446
307003280 | A Mg i bt kg 8.280
307003290 | /K Bk 14 1% Pl A 1.632
307003300 | #8 fHg4 fis m? 1.412
307003310 | #1145 =>0.04 m? 1.412
307003320 | ¥k} % 4 4w 43 A7 m? 0.882
307003330 |#f}45 19 i 15.888
307003340 | ¥k} 20mmx4m = 16.866
307003350 | ¥ k47 11 (4% S b A%, A 0.168
307003360 | 3} % BEAE AR 30x50%10 m 2.294
307003370 |4} & A 19.407
307003380 | %} 1y 22 A 4.852
307003390 |} 22 A 0.123
307003400 | 1§ IR B2 (7 AR A #44R) = 136.730
307003410 | i A 0.838
307003420 |# fix i B 5.293
307003430 |14 15%E d360 m 161.526
307003440 | # ik FE 41 £ ©600 m 1.014
307003450 |#4 i = a4 m 133.720
307003460 |45 iz DU e a2 m 144.007
307003470 | #4537 i A 262.697
307003480 | fifi y1 ik BRHAR m® 264.638
307003490 | [ kit b i 4 % 3.440
307003500 | | K PERZ R 20x5 % 3.440

I\ BRIR R ARRE B R
308000220 | ¥4t 4 kg 0.180
308000410 | fik 2 Bk 2 ms 115.720
308000440 | 7 & 44 kg 0.441
308000450 | £ % £ m? 63.139
308000690 | 77 4% kg 2.465
308000850 | f i t5 ek 11K )% 50.8~6 kg 6.275

11




FF 5 M oE & K Ok BB BAL | BRBIBEMN
308000860 | i 5 AR I+ & 50.8~6 kg 6.275
308001180 |1z 4 m® 74.796

Ju. BEE
309000010 | 44754 e 45 4% kg 13.395
309000040 | 4B 15 24 kg 17.625
309000100 | e 45 4% kg 5.023
309000120 | 145 4% &5 422 kg 5.023
309000140 | #1454 &5 422 ©2.5~3.2 kg 4.444
309000160 | H 47 2% & 422 04 kg 4.494
309000170 | Hi454% 45 507 ©3.2 kg 4.979
309000210 |48 A ®3.5 A 0.323
309000220 | 4543 kg 45.689
309000230 |78 & %509 kg 44,591
309000240 | 154522 kg 55.271
309000390 | 5,45 4% kg 6.036
309000420 (A F 42 ©2.3 kg 49.174
309000430 | ¥ )45 4% kg 7.491
309000450 | 4N L 15 2% 45422 3.2 kg 3.283
309000510 | 415 4 kg 79.312
309000700 |4z 23 200" kg 116.440
309000710 [ 1545 kg 0.282
309000720 | A4 e 45 4% kg 5.023
309000730 | 145 2% kg 5.297
309000740 | H1 45 4% £ 4.873
309000750 | K2 5% 45707 ©3.2~4 kg 5.087
309000760 | 4542 4 E. £ 2337.633
309000770 |44 kg 5.023
309000780 | 1545 4% 60% kg 42.300
309000790 |4545 & kg 44,589
309000800 4545 & 509/)k g 0.043
309000810 | #2442 ®1.5~2.5 kg 47.952
309000820 | #5455 4% kg 51.298
309000830 | 4524 & 74.981
309000840 |22 185mm? % il & 160.326
309000850 |4£.2% 35mm2% i 4 49.002
309000860 | 454} A 4.847
309000870 |44 44542 kg 28.103
309000880 | ¥ k1454 2.5 kg 11.932
309000890 | ¥ kHE 4 2.5 A 4,406
309000900 | ¥k} 4524 ©6~8 A 7.932
309000910 | B4 H A5 4% kg 3.638
309000920 |44 B 45 4% @3.2 kg 32.575
T WHEREE
310000180 | s iz i 4 kg 7.939
310000190 | A% iR i iz kg 8.116
310000340 | Py i ik 4 (5% Foh 5 ) kg 7.939
310000350 |y s 1 FH R (- P £2) kg 8.380
310000360 | 1y % 5 45 74 (% Fi i ) kg 8.380
310000590 | I # 4 5% kg 6.175
310000600 |75 % kg 8.380

12




FF 5 M oE & K Ok BB BAL | BRBIBEMN
310000610 | i 5 %54 kg 9.703
310000660 |3z kg 25.140
310000720 |33t kg 8.645
310001070 | By 45 kg 8.380

+—. WXAE
311000130 |17 584 kg 7.631
311000150 | %+ m3 29.141
311000300 |5 k5 kg 7.043
311000310 | -k i 3 e kg 34.322
311000320 |5 -k 24} A60-1 kg 17.829
+=. Bk
312000030 |SBSEi 7k 44 m? 26.464
312000080 |5 7K 71 kg 2.646
312000160 |24t & 4 38.333
312000190 | 4%k} kg 2.029
312000210 [ 1 7 7 1 B 350 m? 3.166
312000280 |7 Bl 7K 3t & kg 3.863
312000400 |ECB Fjj /KR 25 m? 21.092
312000410 [EVA B 7K i m? 21.092
312000420 |EVA Bli7K#R 2)5 m? 21.092
312000430 |EVA BR 2584 28 m? 25.052
312000440 |LDPE #:#4 m? 20.289
312000450 [PVC Bk iR 2J5 m2 21.092
312000460 |SBS te Wi H B K B4 55 m? 17.643
312000470 | 5 Hj g AJF kg 89.147
312000480 | [y &5 #5 4 R 47.664
312000490 |5 Ji& 5 4 d160~ 200x2000 Ui 58.035
312000500 |55 7K AT 3k A 0.705
312000510 |5 K i 2 %¢ Y6 4T = 258.526
312000520 | B K fe A % 15.560
312000530 | Hi (97 7K) m? 70.570
312000550 | #1455 7K Je AT % 15.914
312000560 | Py 5 7K i Jie 1k Kk A m 89.271
312000570 | gzl B K EE m? 18.966
312000580 |33 iy 7K By =0T 1 A 0.970
312000590 | #7424+ m 2.646
312000600 |itx 4% & #r kg 0.529
312000610 |38 7K fig ik 1F 7k & m 22.054
312000620 |38 /K K 17K % 3020 m 22.054
312000630 | 1F 7K A 44573
312000640 |33: 3 17k Ay m 0.882
+=. EEWERATER
313000030 108/ kg 0.794
313000200 |E443 R W g kg 23.288
313000370 | i kg 8.433
313000440 | =R E 5% C53-1 kg 7.939
313000480 | {71 kg 6.766
313000550 |1 1 E &l — 2% kg 19.368
313000570 | T 3L 7, 45541 kg 13.893
313000810 | /& &by K 71 kg 6.014

13




FF 5 M oE & K Ok BB BAL | BRBIBEMN
313000820 | % 25 71 kg 1.764
313000990 |31 & 44 g kg 27.937
313001040 |HLih kg 10.698
313001050 | H % kg 4516
313001090 | &7 kg 4,852
313001110 | £ 4 kg 38.957
313001130 |3k kg 3.105
313001140 | B4 15 B R kg 13.938
313001160 |4 fis 2kl kg 20.289
313001210 | SR VU9 L M7 1x30 kg 86.669
313001270 | AT EA A4 (R %t kg 89.147
313001380 |wifik kg 2.470
313001500 |40 T e &h &7 kg 7.057
313001650 |45 kg 2.382
313001840 | FL 1L 7 kg 1.182
313001890 |44 i kg 5.293
313001960 |75 i 7 kg 4.411
313002000 | 575 31 2007 kg 7.286
313002090 | = 2. g% kg 14.996
313002130 | khi; kg 1.886
313002250 | 7k f kg 4.114
313002310 |FA75 i kg 3.520
313002320 A kg 3.257
313002380 |f S 4h kg 3.670
313002440 | 5 fig i kg 10.585
313002460 | {2 pin A 0.528
313002500 | #4551 kg 5.170
313002510 | kg 1.714
313002690 |& = m? 8.036
313002790 | & m? 2.496
313002810 | )% i kg 7.586
313002840 | 7, — Ji% kg 22.054
313002850 | Z. 5, kg 11.759
313002860 | 2.4 =, m® 10.003
313002920 |31 2773 kg 4,852
313002980 |#F:25 fiy4s kg 4543
313003070 | #hi PEAZ I 20mmx5m & 2.294
313003310 | & P04 Z. 4R kg 16.010
313003330 | A& T kg 3.988
313003440 |55 kg 7.009
313003600 | i 71 kg 1.164
313003790 | g ik 71 kg 3.405
313003800 | - 3k 7K 571 kg 0.579
313004000 |C401 fi kg 17.643
313004010 [EAA FR% 71 kg 41.680
313004020 |PVC i kg 1.764
313004030 |PVCZK kg 1.764
313004040 |SBS Bt F m? 17.643
313004050 [SH #:m7 kg 3.326
313004060 | {5t 3 S R kg 17.643

14




FF 5 M oE & K Ok BB BAT | BB
313004070 | {53134 kg 7.939
313004090 | i fid—%% kg 8.433
313004100 | 55 1 i 3.952
313004110 | 338z 310g 5% 3.952
313004120 | 388 (3 H ) ¥ 3.952
313004130 | it i A2 () kg 8.116
313004140 | Fi P 7 55 ¢ kg 7.498
313004150 | ¥ % kg 3.017
313004160 | {i. i35 kg 0.633
313004170 | E77(KA) kg 0.633
313004190 |4 g s kg 29.992
313004200 | Nz kg 6.792
313004210 | T 5 kg 8.069
313004220 | T Ht, mL 0.045
313004250 | £ Thfg bt i & 8.513
313004260 |55 Ji& kg 13.831
313004270 |15 i 3t kg 0.353
313004280 |Bj45# C53-1 kg 7.851
313004290 | 545 Z 41 (o g I W 2 kg 14.167
313004300 |k A3l A e ikl kg 12.553
313004310 |} 5454 F53-1417% kg 14.531
313004320 |44 ety % 4.411
313004330 | & 45 kg 14.952
313004340 | & 4 L (0 IR IR 8 kg 19.786
313004350 | g AL B kg 3.988
313004360 |45 %5 kg 17.643
313004370 |£L 1} M s B 45 % kg 7.851
313004380 |4, & £ R4 kg 22.054
313004390 [ M4 & 842 kg 15.173
313004400 | A R E Mk kg 14.432
313004410 [ A I E % kg 15.173
313004420 | E MW T 3 kg 7.224
313004430 |4 G (454 kg 17.643
313004440 | FF & I g Ji % kg 29.992
313004450 |4 B g &5 kg 14.996
313004460 | I 4 I i T % kg 35.285
313004470 | FR 4 i 2% [ 71 kg 21.639
313004480 | 48 i s Be 771 kg 12.349
313004490 | # kg 6.318
313004500 |35 H 541 kg 26.464
313004510 | MLk kg 8.821
313004520 |13 10%~14* kg 10.698
313004530 [ fi3 20 kg 10.698
313004540 |3 BEH kg 17.643
313004550 | [ 5 7] kg 8.915
313004560 |45 m 2.779
313004570 | fiz s 20m %t 4411
313004580 | [ I8 35 F M g kg 22.936
313004590 | 5 5 1E 25 kg 6.713
313004600 | i B ik ikl kg 12.632

15




FF 5 M oE & K Ok BB BAT | BB
313004610 | i 500mL/AH mL 0.018
313004620 | & BRB 7KK} 2)E kg 11.875
313004630 | A BT By K ik kg 22.054
313004640 | A Bg R 42 1% kg 13.938
313004650 | T s H & 7 kg 11.732
313004660 | #f1 25 34 S 44 g kg 22.936
313004670 i kg 1.359
313004680 |3 75 45 % Jis kg 5.963
313004690 |5 4 3 = 6.175
313004700 | f# iR & — 4 kg 17.643
313004710 |48 #utE5] 4= 728.195
313004720 | T#k: kg 3.352
313004730 | &0 T Bk B 7 kg 7.057
313004740 [Ffbah & & =80% kg 0.847
313004750 | #piw kg 4.852
313004760 |45 5 t 1323.188
313004770 | AHA R i i kg 0.353
313004780 | A fii F I FRES kg 2.991
313004790 | & Hi 7 kg 2.602
313004810 |44 (%) kg 5.293
313004820 |42 ML kg 12.349
313004830 i 71 & 3.088
313004840 |3 C01-1 kg 8.645
313004850 |7 5131y kg 4.852
313004860 | F, 147 kg 14.820
313004870 | A0 i i 75 kg 3.988
313004880 |78 i kg 4.498
313004890 | =524 m 4.075
313004900 | A 47 % 6.325
313004910 |14 & 7 kg 19.407
313004920 |4 i 7 kg 5.734
313004930 | A i T kg 4234
313004940 7733 10* kg 4.234
313004950 |43 T e e m3 1722.791
313004960 | £ i ALis kg 5.469
313004970 |5 Py 3R i kg 8.175
313004980 | =5 Py 15 IR I kg 24.700
313004990 | B g Ji kg 22.054
313005000 | i #4558 7] kg 1.279
313005010 | ¥k} Ay % 3.281
313005020 | %} 20m 4 5.507
313005030 | ¥ kb i oy % 3.176
313005040 | #5457 kg 156.454
313005050 |37 75311 25 5741 kg 13.232
313005060 |7 B =t e mL 8.821
313005070 | iz kg 9.703
313005080 | i A3l kg 9.703
313005090 | 457 kg 0.582
313005100 |4} 7K ST Ty P s kg 15.782
313005110 | #h i3 SN-2 kg 1.711

16




FE IR BAL | BRBIBEMN
313005120 |47 kg 25.229
313005130 | ¥ 7 E LT T3 kg 26.464
313005140 |4, 3 9.245
313005150 |4< 99.999% ik 9.245
313005160 | %S+ 53l kg 132.319
313005170 | 2. B (TP k) kg 2.964
313005180 |3t kg 7.939
313005190 |z 4t kg 9.915
313005200 |y tEAEE . A, &K kg 7.057
313005210 | P By 5 % kg 7.586
313005220 |3t fig kg 14.555
313005230 |4 ¥77 E LT T3 kg 34.403
313005240 | i A7 X 12 ©1000 m 30.800
313005250 | k471 kg 6.934
313005260 | Jig s fi& T J2 [ 46,771 kg 15.402
313005270 | BBk B 7 R 2.611

0. &R%HEAEE
314000020 |74, URLAM[E & & A 4.292
314000025 |4 % il 30.001
314000150 |#\&T kg 5.499
314000170 | =[5 Sk ¥ 47 18442 M2~5x15~50 5 0.080
314000190 |} [ 3k 9% £ 1848 M6~12x22~80 105 7.138
314000230 |- [5 Sk 24T M6~12x12~50 5 0.383
314000640 |4k ©6~8 A 19.612
314000650 | ik ©6~12 A 19.612
314000660 |y 4tk @8 Ui 19.612
314000680 |43k @10 R 29.418
314000690 |4tk ©10~20 A 29.418
314000700 |4 sk @12 A 29.418
314000710 |piikli sk @14 R 29.418
314000720 |4 sk @16 R 29.418
314000730 | ikl 3k @20 A 29.418
314000940 | g dZ A4 kg 5.680
314001210 |47 kg 5.975
314001280 | Hh fH1iE k5 M10x25 = 2.853
314001320 | Hh 2K M14x120~230 = 3.388
314001420 |# J A 0.150
314001490 |k kg 4.462
314001590 | 4 /Er i BHIZ M M6x16~25 = 0.573
314001640 | P Ee R AL K 12 A2 M10 = 2.646
314001650 | P ERR L IZ K 1B M8 B 2.030
314001680 | FE 4Kk il 5 IE W8 M10x100LA Py 2°F- 15844 108 18.841
314001750 |95 52 K il 1 IE 12 A2 M16x100LA Py 2°F- 1553 10& 3.728
314001840 | HEe kG il 7S f1 iy TH IS A M8x30 £z 0.194
314001850 | B K& Il 7S f1 5 I 1AL MBxT5 = 0.194
314002010 |44 dzfs: £ 0.313
314002190 | i KB R} 3x15~20 A 0.009
314002280 |95 £ RIS LE (SR K E H) 15 A 0.070
314002290 | 9% £ 4 E AR RE (S JEFCE ) 20 A 0.009
314002350 |42k 24 (44 kg 3.084

17




FE M oE & K Ok BB BAL | BRBIBEMN
314002360 |44k 42 8°~12" kg 3.084
314002370 |42 13%~17" kg 3.172
314002390 |4 44k 22 18%~220" kg 3.172
314002490 | i B BUIEE] M4~6x20~35 104 0.177
314002510 |84 A 4.226
314002630 |4 25 kg 3.529
314002800 |47 42 4% kg 6.592
314003030 | & 444 3k A 26.744
314003060 | & &4k ©16 A 26.744
314003070 | & 4494k ©20 A 26.744
314003260 | 4 44 g-12* kg 4.569
314003380 | [al #4374 A 5.282
314004000 | #5175 5 MBS B 272 H4 P8 M8x14~75 10& 7.733
314004010 | K&l A5 MRS 55 5 24> 2B M8x80~120 £z 1.533
314004020 [ il 75 1 1 MG WS A2 P8R 7 24> # 8 M10x80~120 5 1.533
314004640 |7 A kg 5.143
314004820 | F2404T @4x32 H 0.053
314004830 | #2414T 4.5 R 0.071
314004960 (8244 kg 6.231
314005060 |#2#: M10 % 1.329
314005120 |24 M20 A 0.714
314005380 | A k24T A 0.062
314005390 | A #2814 M2~4x6~65 104 0.264
314005400 | AR #24T M4x60 A 0.136
314005410 | A 854 M4x65LL R 107 0.238
314005450 [ AH24T M6x30 A 0.062
314005480 | A 14T M6%100 104 0.264
314005640 | i ik hzfs: £ 1.592
314005660 | i fik 124 M5 = 0.506
314005680 | fi ik 124 M6 S 0.490
314005720 | ik b2k M8 %= 0.891
314005730 | g ik i e M8x60 £ 0.891
314005760 | g/l 1544 M10 5 0.999
314005800 | i ik i 4: M10x80 = 0.987
314005810 | ik ig4e: M12 B 1.401
314005860 | i fik #5i#:: M16 = 2.729
314005920 |~ gk kg 3.529
314006210 |&+4T A 0.053
314006240 | sz.0» T B4 kg 3.969
314006330 4 3k BRigAE M20x65 = 3.878
314006480 (44T kg 2.820
314006740 |44 kg 44.063
314006810 |43} 2k kg 3.968
314007220 | B fdn4: A 5.282
314007460 | F BOIZ4T M4x30 A 0.026
314007470 | & Bri2 22 M5%25 A 0.021
314007480 | [ BB 22 M6x25 A 0.027
314007490 | & Bri2 22 M6x30 A 0.034
314007500 | [ Bri2 22 M6x35 A 0.027
314007510 | & Bri2 22 M6x40 A 0.034

18




FE M oE & K Ok BB BAL | BRBIBEMN
314007520 | [ BriB 22 M6x45 A 0.034
314007530 | [ Briz 22 M8x35 A 0.041
314007540 | [ Bri2 22 M10x30~50 A 0.027
314007550 |4 & HAREAR kg 3.310
314007560 | B B4 E R HE 8 ©20 A 8.683
314007580 | B ML E 445 025 A 9.360
314007610 |4EIZ 44N £ D20 A 5.993
314007630 | HEIZ LN ERE ©25 A 6.785
314007650 | IZ LN E R ©32 A 7.314
314007720 | B MBS E L %R ©32 A 7.050
314008050 | X\ 45 1% T 1<§ 4.402
314008320 |[HFH (31D # A 4.402
314008560 |44 izt 0.840
314008950 |2 e kg 4.305
314008990 |4 sk kg 19.545
314009010 |$n144: kg 5.282
314009040 | /K 58 kg 6.785
314009070 |43k kg 19.545
314009180 |4 3k kg 19.545
314009300 [8U TR A 35.365
314009310 | Az ¥4 A 0.582
314009320 (U #8427 iE M22 kg 10.548
314009330 | A B 40 m 24.728
314009340 | 2[5 3L #84T M6x10 HA 3.408
314009350 | 4% [ #5 [ 5 #8448 M12x120 G5 7.132
314009360 | 4% £ 28 [# & #5#4 M16x150 £z 12.926
314009380 | AN 44y BEIZ A 8x10~50 5 0.969
314009390 [ AN EH4N 7N 1 #84E: M10x40 = 4.230
314009400 | INHAA7S F I8 8 M12x40 = 0.105
314009410 [N EH4N /N M i M12x50 = 3.598
314009420 | INHAA7S F I8 M12x60 %= 4.759
314009430 [ ANE54K 7S 1 1848 M16x40 = 0.105
314009440 | INHAA7S F 1844 M16%80 5 0.105
314009450 | ANEBAA7S A 1842 M8x35 = 0.177
314009460 | TNEHAH7S F1 1848 M8x50 = 3.701
314009470 | ANEE AR ET M10x30 S 4.054
314009480 [ AN EH4ANIRET M8x40 £ 0.044
314009490 | AR IEH: M12x30 S 2.468
314009500 | 54482 M12x50 A 0.969
314009510 | AN AR IEH: M12x50 =S 2.468
314009520 [ AN EH4NIEAE M8x30 %= 1.146
314009530 | AN AK 1542 M16x100 = 4.582
314009540 |44 & A 107.619
314009550 | 7Tk 42 ke M8x15 A 1.471
314009560 |FhiE40%T = 0.044
314009570 |fhiE404T H 0.027
314009580 |#hiE404T @4 BHA 1.771
314009590 |5 85T ©4x13 B 1.771
314009600 |k £ ] J% 8 £ = 7.464
314009610 | M2 14 (25 4 kg 5.287

19




FE M oE & K Ok BB BAL | BRBIBEMN
314009620 |45 BHIZA: 12x40~60 = 0.714
314009630 |#5 BHIZH: 12x85~100 £z 0.264
314009640 |45 BHIZH: 14x65~80 = 0.264
314009650 |15 BHIZH: 16x65~80 = 1.357
314009660 |45 BHIZH: 16x85~100 %= 1.427
314009670 |75 B4 8x110~120 S 0.264
314009680 | 315 4 ] 12 A 0.093
314009690 | 7# 3 44 5 14 A 0.093
314009700 | #1524 & 16 A 0.093
314009710 | 33 4[] 50kg A 1.357
314009720 | #.5 H4 % 60kg A 0.437
314009730 | #4544 8 A 0.093
314009740 | 355 £ [ (A2 ) 26x44x9 A 0.881
314009750 | 351 5% 44 B XL = A 0.881
314009760 |i&4T A 5.975
314009770 |i&%] 16x16x165 A 1.727
314009780 | Hh sz 4 kg 4.457
314009790 | Hh g4 16~22x150~300 £ 1.736
314009800 | ih fH1iZ e M12x1070 Uit 7.399
314009810 | i 24 M12x140 e 3.566
314009820 | B 45 FE48 % 4] M16 = 3.551
314009830 |#uii kg 3.529
314009840 | #4) 80x50 B 6.610
314009850 | - kg 3.529
314009860 | & 12 A 0.558
314009870 |4 14 A 0.558
314009880 | 8 16 A 0.600
314009890 | ¥ A 1mm A 0.141
314009900 | ¥ A 2mm A 0.150
314009910 | ¥ A 5mm A 0.159
314009920 | # iz 4% = 154.135
314009940 | %z 22 GJL89I-98 = 196.123
314009950 | Fi/E 2 £T 45 1H M12x110 G5 1.305
314009960 |42 57 4T 7 iE M12x160 £z 1.698
314009970 | FiE 27 £ 451 M14x70 G5 1.357
314009980 | it 7 £] 41 1 M16x60 = 1.322
314009990 | Pi/EE ¢ £T 5 IH M4x20 = 0.276
314010000 | 9% £ BRI 12x110~120 = 0.705
314010010 | P45 REIBAE: 16x400~450 %= 15.862
314010020 | 9% £y BR4Z 42 6x30~50 £ 2.186
314010030 | g 4% 1Hi2 44 8x110~120 = 0.159
314010040 | 9% &7y BR4Z 2 8x30~60 £ 0.807
314010050 | g5 BEIZE S M10x40~60 5 0.978
314010060 |4y BRigAe M10x90 A 0.828
314010070 | 5 RHBHE M6 5 0.018
314010080 | ity BEIZE A M6x30~50 £ 0.978
314010090 | s FHZ M M8 = 0.723
314010100 | iy BEIEAE: ©8x16~25 S 0.718
314010110 |9k Fe i EEE M10 A 0.044
314010120 |4 Ee 3 H4 P8 M16 A 0.339

20




FE M oE & K Ok BB BAL | BRBIBEMN
314010130 |9k £ E L PE M6 A 0.046
314010140 |94 Fe 3 H g M8 A 0.053
314010150 |k Fe i EHpE M8 = 0.051
314010160 | fFIChk 2k 22 ©2.8~5 kg 3.129
314010170 |44 Hh JHIIZ A4 6x120 = 2.674
314010180 |44 248 6 A 0.027
314010190 | P 1 [E M10 A 0.044
314010200 | 9% £ 28 M12 A 0.097
314010210 | B 1[5 M16 A 0.132
314010220 |4l M6 A 0.027
314010230 | i 218 M8 A 0.073
314010240 | 4e 44 M8 %= 0.035
314010250 | FE4EHLERET 2~5x4~50 A 0.167
314010260 | g EEHLIEET 6~12x12~120 A 0.194
314010270 | EEHLIZET M6 = 0.216
314010280 |FELEHLIZET M6~12x12~120 A 0.194
314010290 |95 £ 7S M8 RE 10 A 0.177
314010300 | FE4ES A IBEE 12 A 0.194
314010310 | HsE /S MR EE 8 A 0.159
314010320 | FE4E S A I8 EE M8 A 0.130
314010330 | FEEE 7S 1 I8 44 16x35~60 A 1.595
314010340 | firEE 7S A1 8 M12x50 S 0.705
314010350 | #4575 M Sk B4 IE M10x100 = 1.762
314010360 | fitEE 7S A1 Sk IS A2 TE M10x120 S 0.925
314010370 |Gt/ f Sk 1844 1 M12x(60~65) = 70.491
314010380 | e 7S A1 Sk A i T M8x40~45 £z 0.784
314010390 | 4R I2ET M6 = 0.220
314010400 |4 4E 08 M12 A 0.159
314010410 |4sesnsT kg 2.828
314010420 |4 A kT A 0.044
314010430 | FEEEAUIRET M6 %= 0.053
314010440 | EE Rz Ik 154 M6 = 0.891
314010450 | ¥ i ik ik M8 5 0.891
314010460 | 9% BefZ K 1842 @12 %= 1.084
314010470 |95 £ 81 BIZRE M20 A 0.540
314010480 |94 £81 Fug£E M20 = 0.009
314010490 | Pk 1 5 5 B (F2 S B A% ) A 0.009
314010500 [ -1 S U RE(4 I8 B 4% 52 Bl i%) A 0.009
314010510 |44t 22 2.0 kg 3.084
314010520 |4 42 207~22" kg 3.172
314010530 |4 474k 22 23%~08" kg 3.172
314010540 |44k 22 ©0.7 kg 3.084
314010560 |4k k22 ©1.6 kg 3.084
314010570 |44k 22 ©2.8 kg 3.084
314010580 |4 eigk 22 04 kg 3.084
314010590 |44k 22 ©4~2.8 kg 3.084
314010600 |94 T 3k 54T M19x800~900 R 27.882
314010610 | 9% £ H BUiE4] ©4~6x20~35 A 9.694
314010620 |75 22 &84 M20x80 =y 3.742
314010630 | 5 FiiZ#2 M8x20 E 1.533

21




FE M oE & K Ok BB BAL | BRBIBEMN
314010640 |5 /K I L M16 A 1.005
314010650 | /= 7% )5 £z 3k 1844 45 1E 50kg =S 6.165
314010660 | = 58 i 4 Sk 144 7 118 60kg = 5.657
314010670 | T.2 5 b 2L 4 Fr 22.877
314010680 | T3 T Huti 24 F 22.877
314010690 |3k W2 #2471 M10x200 £z 2.491
314010700 |4k W2 E M16x200 5 3.560
314010710 |#53K 4277 1E M16x300 £z 4.107
314010720 |43k 12 1 E M16%350 G5 4.536
314010730 |[# ;& 1242 M10x80 =S 3.084
314010740 |[7 52 1244 M8x60 = 0.661
314010750 | & A ig e kg 4.054
314010760 |5 4# 4441 43kg A 34.103
314010770 |4 4% 4447 50kg A 35.312
314010780 |1 fE A 2.591
314010790 | # - hEfs51E £ 3.701
314010800 |4 77 40x80 = 2.033
314010810 |5 #u4R A 3.965
314010820 | 3§ Hubie kg 3.529
314010830 | £ 7 vt £ 7.367
314010840 |12 fish £ 7 s [ 72 US4 = 15.510
314010850 | £z 3k g 4% 717 ME 50kg = 5.823
314010860 |3k g 445 1E 60kg 5 5.503
314010870 | [E i+ M8x60 S 0.661
314010880 | i FH A 2k kg 3.965
314010890 |1 A 4o} Hdk A 1.762
314010900 | & #1454 4 15 842 M8 = 0.567
314010910 | K& Hil ¥R g4 H1§ M10x35 A 0.987
314010920 | ¥& #1175 f 45 1B 1B M16%60 A 1.454
314010930 | ¥ il 7S 1 i MRS AR B8 E 72> B4 PE M6x14~75 10& 4.847
314010940 | % H B 12 42 A 2.186
314010950 |4 2% 124 M12x50 =S 12.337
314010960 | 452544 M8x35 G5 7.932
314010970 | B BY =y iU A42: M20 S 6.610
314010980 |11 %42 £} M20 A 0.819
314010990 |4 842 M12 A 0.881
314011000 | $7 £k i #8222 KA 300 A 31.513
314011010 | #4844 £ 0.283
314011020 |ZEH242H: M10x90 = 0.283
314011030 | #EH IS M12x140 £ 0.686
314011040 | ZEHI2H: M16x30 = 0.686
314011050 | #2884 M4x10 = 0.257
314011060 |2 M6x10 = 0.546
314011070 | #1124 M8x30 S 0.546
314011080 | H 2 H: M8x35 = 0.617
314011100 |4 14: kg 4.406
314011110 | B4 HE -5%200 m 600.027
314011120 |/ fAUERE M8 %= 0.533
314011130 | /< A 844 18 M10x30 5 0.463
314011140 |75 f 14277 1 M10%35 0 0.463

22




FE M oE & K Ok BB BAL | BRBIBEMN
314011150 |75 U227 1B M10x5 5 0.309
314011160 |75 M U221 M12x35 A 0.531
314011170 | 7S f1 3k IB A2 7B M10x130 5 0.714
314011180 | /< A1 3k A4 7 M10x30~35 £z 0.379
314011190 |75 f1 KB4 45 1H M10x50 5 0.335
314011200 | /< A 3k dE#4 71 M12x(30~35) £z 0.459
314011210 | 7S F1 Sk IBAE 7B M12x(60~65) 5 0.681
314011220 |75 £ Sk g4 71 M12x30~35 £z 0.837
314011230 |75 £ Sk U842 5 M12x40~45 5 0.634
314011240 | 75 f1 Sk IS A2 A TE M16 kg 9.280
314011250 |75 ff1 KB4 5 1H M18%60 G5 1.824
314011260 |/~ £ Sk IE A2 H5 Il M8x18~25 £ 0.326
314011270 |75 £ Sk I8 42 5 M8x20~45 5 0.344
314011280 |41 #4 /8 @8 A 0.132
314011290 |#24] M10x30 = 0.705
314011300 [#2£] M6x20 = 0.705
314011310 |IZFF4i: M10 FZEA12x40 G5 7.491
314011320 |#244: M12 £ 0.441
314011330 [#2 44 M12x30 = 0.705
314011340 | 124 M12x45 A 0.714
314011350 |24 M15 = 1.095
314011360 |24 M16 = 0.705
314011370 [#244 M20~60 = 3.164
314011380 |42 44 M5 A 0.634
314011390 |#Z 2 E kg 10.548
314011400 |4 45 71 = 0.278
314011410 |2 #5108 M12x200 2= 1.322
314011420 |44 7 i 12 B4 M10x50 = 0.405
314011430 (14 A 1.040
314011440 |$2L05H4T £z 0.529
314011450 |42 g 4] 7 4B A 5.111
314011460 |42 jiEE 4T 77 I8ME M24x195 = 4.525
314011470 |#2 i B 4] i = 4.424
314011480 |44 #T R32N([E ™) m 13.554
314011490 | 5 [FH 124 M16 = 5.287
314011500 |4 [F 4242 M32 A 8.583
314011510 |44 M16 = 83.613
314011520 |4%T kg 6.610
314011530 |fiH = 309.890
314011540 | E H 54.230
314011550 | AIR4T d4x65LL T A 0.035
314011560 | i ik 1844 30 £ 1.337
314011570 | ik 1844 M10x105 B 1.138
314011580 | /iK% M10x110 = 1.110
314011590 |k 12 ke M10x12 A 1.783
314011600 | fEZfik i2k2 M10x45 = 1.783
314011610 | ik h2 4 M12x100 2= 2.122
314011620 | iK1k M12x105 £z 1.716
314011630 | /K184 M12x110 G5 1.774
314011640 | ik 18442 M12x220 &S 3.161

23




FE M oE & K Ok BB BAL | BRBIBEMN
314011650 | ik 1244 M12x80 = 1.515
314011660 | ik 1842 M12x85 =S 1.666
314011670 | ik i2 4 M16x150 = 2.159
314011680 | ik 1844 M16x50 =S 2.674
314011690 | /K 1842 M6x50 A 0.758
314011700 | ik hgis: 5 18 S 2418 M12x80 = 1.657
314011710 | ik iB 22 5x50 1004 10.108
314011720 |fgikig 22 d12 H 0.869
314011730 | P-4 M32 A 1.058
314011740 | 1348 25x45x4 A 0.734
314011750 | -5 25x50x6 A 0.799
314011760 |iix \ UK I8 5E M8x30 A 1.337
314011770 | 4L B ugbe 7 8 K 2L P G5 1.159
314011780 | a4 i ik igke M6 = 1.070
314011790 |4 At # m? 21.150
314011800 | 447 2 - = 0.687
314011810 | ¥ 4} Hupi B 2.538
314011820 | ¥} b 10 B 1.877
314011830 |4k #uiR A 29.337
314011840 |2k #4457 50kg B 17.625
314011850 | &k 4K 60kg B 22.031
314011860 |gk4T 30~45 kg 2.820
314011870 |2k4T 50~75 kg 2.820
314011880 |44 kg 3.084
314011890 |k m 3.701
314011900 |44 8%~10" kg 3.084
314011910 |gkLk4T kg 4,759
314011920 | #h 7o il 2 i M12x120 S 1.372
314011930 | b5 [H 5 124 M16x150 = 12.926
314011940 | AR BRI 5 1E S 2 = 2.050
314011950 | & 3% FLiZ 22 A 2.186
314011960 | fr 2 122 kg 6.081
314011970 [F 4T kg 2.820
314011980 |5+ SLUZET M4x20 kg 9.280
314011990 | M2 SUE A% ©45 A 7.050
314012000 |#14T A 1.762
314012010 | % HE BB R B4 = 15.862
314012020 | LML £ 1L ©45LLP A 7.314
314012030 | [ BriB4T M10x50 BHA 5.315
314012040 | & Bri24T M3.5%25 ER 2.497
314012050 | [ Bei4] M4x16 BHA 3.143
314012060 | 5 iz 1004 5.315
314012070 | [ Wi 2 A 0.053
314012080 | & #1124 14 bz 1t £ 1.762

+5. BHREM
315000100 | X HAZ2FH: - ©400mm m 207.759
315000630 | 4%k DN15 A 1.056
315000640 | 4543523k DN20 A 3.453
315000650 |44 %1% DN25 A 4.725
315000860 |4 %£E 25 3k DN15 A 2.641

24




FE M oE & K Ok BB BAL | BRBIBEMN
315001410 | & & R m 10.801
315001425 | /& & R\ 025-6P-20m m 10.801
315001780 | &5k 8x70 A 0.703
315001900 |#&T- 50 A 3.292
315003020 | & J&# & CP15 m 2.227
315003430 |42 L8 04 A 0.411
315003440 | R E B ©6 A 0.557
315003910 | 42322 1.6MPa DN40 ] 34.028
315003930 |45 2% 1.6MPa DN80 2] 76.046
315003940 | 4592 2% 1.6MPa DN125 ] 94.290
315003950 | #5924 1.6MPa DN250 2] 128.577
315004420 | 5 4 s A A B2 3L 2 DN100 A 15.191
315004670 | 547224 0.6MPa DN50 2] 28.214
315004680 | #4472 2% 0.6MPa DN100 il 40.922
315004700 | ##4M3%: 2% 0.6MPa DN200 2] 92.594
315004710 | #5447%: 2% 0.6MPa DN250 il 141.955
315004730 | #4M3% 2% 0.6MPa DN400 2] 259.463
315004740 [ &4 KT27% A 0.880
315004840 | %4125 3k DN100 A 32.108
315005540 | & s i B2 K d25em m 16.305
315005800 | /&7 i Bz /K 45 19-6P-20m m 15.500
315005900 |42 71 H: fi H-45 D40 m 22.156
315005910 | mi i - 5 515 D159 m 96.545
315005920 | Mt i H- fiH-4F D76 m 42.179
315005930 | & [ R 3.636
315005940 | X 142 ri 5 @159 m 87.285
315005950 |2k j7 % ©50 m 5.814
315006130 | /& #1125 3 DN50 A 9.687
315006160 | [a] /K 2 1F ] 0.528
315006310 | 54 kg 4.305
315006500 (48-2400%! 5 i & 48-2400%! G5 240.834
315006510 [507 £ £ %5 £z 2.614
315006520 (9207 & {3 & S 4% 9207 G5 44.934
315006530 |LEDfE SHLIIANE mifE A B G 40.321
315006540 |pp-r& ®50 m 21.226
315006550 |PVC % £:% ©20 m 1.356
315006560 [PvCEs m 9.806
315006570 [PV C% DN50 m 9.806
315006580 |PVCH ®150 m 16.938
315006590 |PV/C4 040%3.5 m 8.023
315006600 |PVC4 ®50 100m 980.616
315006610 |PVCE 080 100m 1158.909
315006620 | -1 5 k) m 6.529
315006630 | 5 % 44 H¢ 9.1x807H £ 5.133
315006640 | 5 & 4 # T2 s 9.801
315006650 |2 |51 & 4 54 T2 £ 22.287
315006680 | 804 ©50 m 5.987
315006690 | L w4 & HE L 4 6.585
315006700 | AN 44N t 5571.680
315006710 | 7 i & 3L B £ 5.987




FE M oE & K Ok BB BAL | BRBIBEMN
315006720 | 77 /K Z5 4 P 4% 32 A 19.368
315006730 | 5 [ 45 ®30 m 13.473
315006740 | & Jie 4 & Hk 1 A 7.729
315006750 | L4 (1% SEFR#LA%) m 5.185
315006760 | % ©20 m 6.986
315006770 | fi & 34-1430%! = 78.185
315006780 | 5E AL 34-1470%! G5 46.334
315006790 | 7 fi & 34-1530%! = 149.134
315006800 | 5E 13 % 34-1550% & fi & = 66.618
315006810 | fi & 34-1570%! = 149.134
315006820 | 5E Az 34-1600%! G5 124132
315006830 | 7 i & 34-1650%! = 124.132
315006840 | 5E A7 34-1950%! G5 124.132
315006850 | 5 i & 48-2290%! = 162.281
315006860 | & 13 % 48-2300%! = 169.611
315006870 | = i & 48-2370%! = 131.465
315006880 | 5E f ' 48-2400%! %= 151.550
315006890 | 5 i & 48-2850%! = 175.781
315006900 |5z 1z & 3 £ 24007 = 234.935
315006910 | 7Ehr 4 344 29004 &S 234.935
315006920 | 5 13 % 37 4% 7807 = 29.654
315006930 | 5 fir # S+ 81074 S 31.327
315006940 | & 13 % 37 4% 8207 = 31.415
315006950 | 5 {7 ¥ 4% 900%! £ 33.387
315006960 | & 1y % 37 % 8807 = 28.975
315006970 |44 i 2k m 10.926
315006980 |4k £#:4N % 80 kg 4583
315006990 | F5 4 5 B2 3k (F LBk ™ 0.379
315007000 |5 £ 4 ek (S B $2 SEbria) A 0.379
315007010 |4 5 1 (H S Br bl Ag) A 1.558
315007020 | g A5 B2 4K DN100x4 m 52.846
315007030 | 4% £ s fz & d38 m 7.753
315007040 |34 Ik 4% 45 240mm” A 54.583
315007050 | 440 I #3:5 35mm” 0 24.650
315007060 |4 3 [ 4 kg 7.395
315007070 |0 25 L33 A 572.240
315007080 |22 ®165x100 &l 105.603
315007090 |24 : 4> B i A 246.503
315007100 | 75 [ i 4 i HF-AH T 2834 3658 B — Wof FE itk G5 272.703
315007110 |BH &R N 1% 28 m 123.252
315007120 | B4 4% 28mm m 42.529
315007130 |JEREMEENE ©100 m 46.660
315007140 |dE B 22 b 45 % 1.092
315007150 | & kg 5.018
315007160 | X\ kb ik 28 B Y 2 = 204.333
315007170 | & 3 24n £ 147.092
315007180 | iI4: FELBAE (4 S Bt ag) m 9.684
315007190 | 444 ©100x6 kg 4.331
315007200 | 444 ©48x3.5 kg 3.529
315007210 | 4945 ®50 kg 4.232

26




FE M oE & K Ok BB BAL | BRBIBEMN
315007220 | 444 504 kg 3.529
315007230 | 4% 4 22 £ /K D50 m 23.085
315007240 |94 & 7 107 Bl 2.482
315007250 | 4945k (47 24 4%) t 5009.296
315007260 |47 %842 4% DN100 m 107.185
315007270 |09 55 4% DN1004% L B4 A 85.924
315007280 |41 %842 4% DN125 m 187.562
315007290 |44 5 &% DN1254: 3L 214 A 189.279
315007300 |44 %2 4% DN15 m 12.994
315007310 |44¥8 45 4 & DN150 m 188.355
315007320 | HIE A& DN1504L F 14 A 244,742
315007330 |HE 55 44 DN15#E L Z A A 3.653
315007340 | 445152 4% DN20 m 16.916
315007350 |08 55 4% DN20#E L Z 4 A 4.930
315007360 |44 52 4 DN25 m 23.819
315007370 |8 55 44 DN25# L Z 4 A 7.879
315007380 444152 &% DN32 m 30.007
315007390 |8 55 &4 DN32#E L Z A A 11.313
315007400 |44 52 4% DN40 m 36.975
315007410 |55 &4 DNAORESLZ A A 15.494
315007420 |44 52 4% DN50 m 46.976
315007430 |49 ¥ 5 &% DN5SOJE L 2 A 22.318
315007440 | 4451 52 4% DN65 m 81.258
315007450 |49 ¥ 5 &% DN65HEL Z 4 A 37.371
315007460 |44 52 4% DN8O m 78.784
315007470 |49 ¥ 5 &% DN8OJE L Z A 27.292
315007480 |41 #h %k DN100 A 21.129
315007490 | 44414123k DN50 A 19.368
315007500 |4 il #ME -k DN8O A 18.489
315007510 | & pol e A 4.120
315007520 | & &R 020 m 25.529
315007530 | /& &R & 025 m 25.529
315007540 | & % i J7 R m 18.333
315007550 | /&5 & 15 R K 4% m 14.460
315007560 | /&5 [ 7 14 ©150%3m R 70.429
315007570 | = RS m 26.411
315007580 |7 /% ji & m 19.755
315007590 | [ 2 £z 11 Jé e 1= ] 1.215
315007600 | [ 5 -1 A 1.755
315007610 |[# 52 -FF 1.5%32 £ 4.067
315007620 | %1% ®50 A 2.674
315007630 |4 H 1.672
315007640 |44 ®50 A 3.595
315007650 |4z 3k (1% S AL %) A 0.705
315007660 | & -~ T (HLE & F & L hrflag) A 0.264
315007670 |~ T (W& $SERRHIAE) 0 0.344
315007680 | &R T (& B EE H 17 SEBRHI) A 0.264
315007690 | &g 607 £ 301.316
315007700 | L3 fiEbr & A 176.074
315007710 | Y43k A 29.052

27




FE IR BB M
315007720 | Je4F 565548 275.849
315007730 | FEAT & 32W 21.305
315007740 |JC i HE 182.751
315007750 |JL#iHE PAC110 182.751
315007760 | 7Rk 13l {5 & B 141 600 10.683
315007770 |yR %t 3E 58 b 250 600 10.763
315007780 | 7R ¥ 13 {5 & B 64L 600 14.882
315007790 | & B 4180 e k1L 6.647
315007800 |34 11 (#% LB %) A 7.906
315007810 (3 3k (4 S B ) A 7.906
315007820 |23k JH 38kg He 69.259
315007830 |23k Je# 50kg He 63.294
315007840 | 23k JH7 60kg H 114.797
315007850 | £z H11# 50kg He 3.574
315007860 |23k 44 kg 4.842
315007870 |23k 7 22 % 51.282
315007880 £ J& 4 & ©20 m 4,106
315007890 | 4> & 1 /Es (2 5 b A%) m 3.830
315007900 | 4 J@ #4323k @15 A 1.331
315007910 | &R # i #:3k 020 A 2.032
315007920 | 4 J@ 8 & kT 15 A 0.449
315007930 | 4@ # & T 20 A 0.977
315007940 | & @ & KT @20 A 0.436
315007950 | 4 J@ #1& Jé Je ek (3 S B B A%) A 2.130
315007970 | A LMK d20%2.5 m 1.162
315007980 | K& 275 4 d6x0.6 m 0.493
315007990 | R4 L) %% D100 m 18.696
315008000 | A 2. %5184 D110(HEESH) ES 43.776
315008010 | R A £ Mt D50 m 9.022
315008020 | K& 2. 1T 527 D15%2 m 1.056
315008030 | & £ 14 42 7 D20x2 m 1.356
315008040 | 5 7. 47 & [ i 1 3k A 0.880
315008050 | 5 2. )i & % T A 0.132
315008060 | nI Hath 4x J& B4 (IE L Priifg) m 8.310
315008070 | Al Hettk & @ B E Y O (Fe SLhria) A 8.310
315008080 | nI Hatt: 4x J& B 5 e Sk (F SERBR AR A 8.310
315008090 | nlHethk & 8 B E R 7 (Fe sLhrilag) A 1.937
315008100 |47 H: $23k ©20L4 4 A 2.113
315008110 | /A F5 E Bk @25LL P A 3.917
315008120 | A5 L B2k @32LLPY A 5.543
315008130 |4 F5 E B2k @45LLP A 9.939
315008140 | A 4 &4 m 1.215
315008150 | 4 i 4% m 8.214
315008160 |fiif /& 4 kg 58.720
315008170 | JE fe4%3k 15 A 0.702
315008180 | /& #k 20 A 0.784
315008190 |HEsk 42 32(4) = 53.702
315008200 | kit m 268.019
315008210 | ik 23k A 5.811
315008220 | 4532 2% DN100(PN1.6MPa) ] 63.461




FF 5 M oE & K Ok BB BAL | BRBIBEMN
315008230 |F4547% 2% DN150(PN1.7MPa) 2] 120.005
315008240 |“F~457: >~ DN200(PN1.8MPa) &l 154.293
315008250 |F45:7% >~ DN300(PN1.6MPa) 2] 171.436
315008260 | 142954 DN50(PN1.7MPa) ] 58.162
315008270 |+ 45:7% >~ DN60(PN1.8MPa) 2] 58.162
315008280 | 452924 0100 ] 61.448
315008290 | 1|4 f, 98 4 J& 65 LV4-17" m 19.254
315008300 |4 /5 % 357 £ 14.977
315008310 |2 H: A ©100 m 52.212
315008320 | &k B (4 A 7.592
315008330 | &k S Hill: 1 2 F8) 100 A 6.999
315008340 |k £ EAlk I & 150 A 8.154
315008350 | Ek S Hill: 1 i 18] 200 A 9.306
315008360 |k £ EAll I & 250 A 10.776
315008370 |k S il I AR T8 75 A 4.671
315008380 |k £ 554k E 100 m 98.332
315008390 | Bk S454k 4 150 m 110.024
315008400 |k £ 554k E 200 m 148.219
315008410 | Bk 8454k 250 m 194.870
315008420 |k 5544 75 m 84.736
315008430 | Hu i & m 3.979
315008440 | #4545 @15 m 3.979
315008450 | # 4 £ 4 m 4.604
315008460 | #45 &4 A 16.331
315008470 | {44 Sk (F SE P AE) A 7.747
315008480 | ¥} 43} m 15.347
315008490 | #kL AR ©80 m 15.347
315008500 | # k)4 ©50 m 7.109
315008510 | kL (14 S R L) m 2.377
315008520 | kL R (F L bR iag) 0 0.178
315008530 | HkH F1 (R A #5 Bn JAR ) A 0.247
315008540 | ¥ kM 1 (49) 15 A 0.044
315008550 | k14 L (49E) 25 A 0.088
315008560 | ¥ k1 1 (49) 50 A 0.651
315008570 | 147 11 (B9 1 SEBRRAE) A 0.247
315008580 | %k} Ik 45 M4x25 Wi 0.150
315008590 | ik} 4 m 0.310
315008600 | ¥ )93 4 i 5 m 17.607
315008610 |4 14 kg 3.671
315008620 | & 45 W H. 487 £ 169.611
315008630 | & W H- 607 = 82.464
315008640 | &4 m 10.267
315008650 |45 £ kg 4.842
315008660 |iifi 7k DB9 A 40.497
315008670 |i% /K & m 23.136
315008680 | 4733k ©50 A 2.678
315008690 |25 3% H 13.909
315008700 | i FH#2k H 4,578
315008710 | bR &+ & ©400 m 50.181
315008720 | £k 54 Wi 0.969

29




FF 5 M oE & K Ok BB BB M
315008730 |#£ B EE ©50 m 15.577
315008740 |02 H4 % 357 = 18.333
315008750 |15 S EHE d6x1 m 0.969
315008760 | 4005 m 108.330
315008770 |# {47 A 0.267
315008780 | k& A W& m 44.019
315008790 | B A 149 HELl = 5.282
315008800 | B f #1114 £ 5.282
315008810 | B 25 3k (4 S Brai A% A 7.747
315008820 | & iE 42 4000x690%120 4 3397.869
315008830 | o (1] 823k £ 29.418
315008840 | i) 43 3L 44 £ 164.189
315008850 | 3 3k T 3x80 A 6.479
315008860 |42 25 %F DN70x90°L=2000 R 74.321
315008870 | 4% ©50 54 R 558.224

75, BTk
316001200 | &[] ©100 A 114.688
316001210 | (&[] ®50 A 57.077
+-t. K. BR. B RN
317000220 | 1 75T 4n =] 52.822
317000500 |3 i 7k s 2200.921
+)\. Bk, B RHEKME
318000160 | 4 K A 0.952
318000270 |44 B 45 £ 2x35 = 1.159
318000290 |4 4% B 451 3x100 G5 4.457
318000360 |z )7 54 BV 1.5mm? m 0.975
318000400 |42 25 BV-4mm? m 2.779
318000460 |41 fizz A 20m/45 % 1.941
318000540 | 4785 8 k) 4 24 £ BLV-2.5mm’ m 1.528
318000680 | &4 9 b} 41 24 2% BVR-2.5mm’ m 1.268
318000690 | 4 4 k) 44 24 2% BVR-4mm® m 3.246
318000700 | 4 %k} 45 24 2% BVR-6mm° m 4.746
318000710 |4t 58k 44 44 25 BV-1.5mm’ m 0.975
318000720 |4t ¥4} £ 25 £ BV-2.5mm” m 1.499
318000780 |t #5 B 44 44 £ BX-1.5mm’ m 1.036
318000800 | 4t jy 4 2% 2% BX-4mm° m 2.523
318000810 | 4t 7 4 4% 2% BX-6mm’ m 3273
318000870 | FH#AZE k4 54 ZRBV1.0 m 0.522
318000880 | FHMAIE K} 54 ZRBV1.5 m 0.975
318000960 |44 HL 45 -~+ 3x50 £ 1.605
318001500 |30 47 i HR A 40.027
318001510 |8 b 215 2 A (H. 1) A 28.228
318001520 |Bfr F b A A5 2 4 A (XX ) A 28.228
318001530 |VGA #ik A 15.878
318001540 |0 4a %% T £ 187.319
318001550 | # {44 1 (1500V) = 163.017
318001560 | i6¥ 7 75 2 34 ik Ji = 71.318
318001570 | ik 42 & Ji A 58.221
318001580 |43k 48: A 25.925
318001590 |43k DB-25 ] 47.230

30




FE M oE & K Ok BB BAL | BRBIBEMN
318001600 |4k DB-9 &l 9.086
318001610 |4 8z A 11.874
318001620 |4 &R A 56.456
318001630 | gz & f:4 £ 34.844
318001640 | &4 = 34.844
318001650 | &t 45 m 9.445
318001660 |i& 7 JE e AF 4 2% = 161.400
318001670 [{iL47i i 45 RVVP 14x0.4mm’ m 5.240
318001680 |fi.4i H1 45 RVVP 7x0.4mm’ m 4.763
318001690 |5tk 4% T ED-2 A 1.396
318001700 |2 JT120mm? m 65.077
318001710 | H1if HH 28 147 i 70 Xk A 17.643
318001720 | H 45 m 18.018
318001730 |14 7/0.85 4.0mm? m 2.920
318001740 | B34 WJI-YJIE-ZR 3x10+1x6 m 23.958
318001760 | H 25 ¢ 254 A 131.875
318001770 | H1 Jfy H1 45 0.6/1kV3x10+1x6mm? m 10.215
318001780 | H1 /y H145 0.6/1kV3x25+1x16mm? m 39.828
318001790 | H1 Jfy H1 45 VV1kV2its 10mm? m 35.659
318001800 |1 A4 VV1x150mm? m 43.903
318001810 | H, /745 VV1x16mm? m 5.478
318001820 | €1 445 VV1x35mm? m 7.921
318001830 | H, /745 VV1x50mm? m 14.732
318001840 | H Y5 bz (£1.47 ) JJ 4 Ji2) £ 44.106
318001850 | Hi Y4 )s2 — 7L 250V 5A A 7.921
318001860 | H1 Y 5| AT LR & 48 XL-220V = 652.773
318001870 | HLJE 5| N HT AL 48 XL-380V G 1164.406
318001880 |ifd#H 145 75-9-4 m 19.701
318001890 | /7 H 4 m 12.597
318001900 | i FeHfili 4 CTAL120 m 52.928
318001910 | [y 4524 i = 19.701
318001920 | [y 46 n 12131.273
318001930 | 57 7K 4 Ji2 FFL FpK I 4 = 19.407
318001940 | 517 7K 47 JB& X FBf s 4 £ 19.407
318001950 | 517 7K 4 JAE 4. & i 4 = 38.813
318001960 |3 BF i W Lk 8:ts m 3.955
318001970 | W4 4 F & R 4a 2% 7 A 200.580
318001974 |45 3t m 3.429
318001976 |45 4% m 6.000
318001978 |45 6:t m 10.286
318001980 |45 123 m 14.143
318001982 |J¢:44 48 m 44573
318001984 |3%:4k 60:: m 54,002
318001985 | ;4 72:ts m 60.860
318001986 |J%:4i 84:: m 73.718
318001987 |J%:44 96t m 94.290
318001988 |45 120:: m 107.148
318001990 |- 4i a2k & A 229.277
318002000 |7£4% 2x0.15 m 1.270
318002010 | T+ F A2 IAL H Y4 iz ™ 76.042

31




FE M oE & K Ok BB BAL | BRBIBEMN
318002020 | %z 37 Fh Jgi 4 i A 5.575
318002030 | s 4k 1 2543 3k £ 3186.237
318002040 | iz 5% JI 5% HK1-10/2 A 5.407
318002050 | $:fili£k km 43453.505
318002060 |ffihzk 1107 m 39.396
318002070 |2 b H 45 m 15.124
318002080 |43z 4 F1,45 10mm? m 10.764
318002090 |42 H1 4% 25mm? m 10.674
318002100 |42 F1.285 6mm? m 2.744
318002110 |43z 4 1401 2% 50mm> m 18.631
318002120 |41 Bk £k TJ-120mm’ m 73.544
318002130 |42 1 4 4 41 4% 16mm’ m 9.672
318002140 |42 4 4745 95mm? m 46.647
318002150 |45 25 1x16mm> m 15.525
318002160 |#:th 4k 04 m 2.756
318002170 |2k ©6 m 6.245
318002180 |4% L4k 244t A 27.899
318002190 | J7i A HL. 45 HIVV42x0.5 m 7.240
318002200 | J= i B4 HIVV48x%0.5 m 8.227
318002210 | S48 2. 45 404 25 [ ik 2% m 4.018
318002220 | J 50 2.4 a4 B v 2k 185 0.3mm’ m 1.385
318002230 4144k 1000x6000%5 He 19.407
318002240 | 41255 1200x800 He 12.858
318002250 |4 254k 400%5 m 17.643
318002260 | 412 5: 4 m 1.262
318002270 |4a4% T2k BV105-2.5 m 1.429
318002280 | 425 54 BV-2.5 m 1.600
318002290 |44 2% 5: 28 BV-2.5mm? m 1.600
318002300 |44 S £k BV-4 m 2.499
318002310 414 54 BV-6 m 3.255
318002320 |44 545 BX-10 m 5.602
318002330 |41 4% ‘T £k FH500-2.5 m 1.059
318002340 | 4124 545 RVS 2x1.0 m 1.694
318002350 | #f1 45 A 7.471
318002360 | 4144 510 m? 16.160
318002370 | #1453 - M8 £ 0.009
318002380 | 1 [# 5 ¥ ©100,520 He 0.562
318002390 | 4255 J #(— & 2 14 £ 15.282
318002400 |4 L HLFE AT ©32 i 105.732
318002410 |4 L EEAT D34 i 112.235
318002420 |41 Z L BEAT D36 Ui 120.181
318002430 | 4 Z L EEAT O36H4E i 124.371
318002440 |41 Z L BEAT D38 Ui 124.399
318002450 |4 LN FEAT HhHzX i 132.148
318002460 | #1235 as 25.264
318002470 |4 ity % 4.710
318002480 |AaZkfe i v 4% 4. el 2.073
318002490 |41 & A 115.232
318002500 |44 % 40 = 4.198
318002510 (#1454 &% £ 44.018

32




FE M oE & K Ok BB BAL | BRBIBEMN
318002520 |41 £ ®55 A 1.435
318002530 | 4845 I HR 5=6~12 kg 3.676
318002540 | 4 4% iz H 2mm GiS 7.066
318002550 |4k A% iz H 3mm % 16.831
318002560 | 412545 i 4 63 H 0.529
318002570 | #1453 2n £ 75.687
318002580 | 4121 A 4.411
318002590 |42 1 e 235 m 17.888
318002600 |82 2x0.5mm? m 1.155
318002610 | £ g 4% T £ 163.017
318002620 | 3£k S 41 = 185.426
318002630 |74k LXGJ-100 m 22.287
318002640 | 5 1k 1 #% 22 3 ¥ 4m = 962.786
318002650 |3% 1% ik A 12.349
318002660 | ik [F] 4 HEL 45 400MHz m 37.770
318002670 | 3514 45 4% 1x70mm? m 36.167
318002680 | 44 £ m 12.269
318002690 | 4145 £ 10mm? m 5.341
318002700 | 48 Hi 2 m 13.399
318002710 | Btk B85 HPYV-ZR 50%x2x0.5 m 24.990
318002720 | Atk B85 HPYV-ZR50%2x0.5 m 8.772
318002730 | J iz e 45 m 18.421
318002740 | BF it W 44k m 3.658
318002750 | J57 ki WL £ 25 8it% m 3.658
318002760 | 5tz 2 BVVP 2x0.5mm? m 0.882
318002770 | BF ik — m 4.799
318002780 | #4228 120mm? m 62.190
318002790 | 754 £k 150mm? m 72.842
318002800 |54 4: 2 35mm? m 15.812
318002810 |74 %5 28 50mm? m 24597
318002820 |74 £ 28 70mm? m 33.816
318002830 | % H1 4% m 141.140
318002840 |#; ¥4 150mm> m 116.782
318002850 | 4 5 2% m 54.122
318002860 | #5444 120mm? m 57.191
318002870 | # 4 L4 16mm? m 23.637
318002880 | i £: 2k 7x1.2 kg 88.701
318002890 | #4448 TIR120mm? m 67.776
318002900 |#c4i :4% TRI-120mm? m 64.285
318002910 |# 44 TRI-120mm? m 67.776
318002920 | =y 4% 1 (8 ) H 6.263
318002930 | = iz A 7.057
318002940 | = M )% 15A A 10.585
318002950 | & 451 E1 45 50-9-4 m 13.372
318002960 | 4 B 4% SYV-75-9-4 m 0.883
318002970 | A7 i H14% m 28.933
318002980 | i iF H.45 HYA 100%x2x0.5 m 19.125
318002990 | 77 i F1 48 HYAT23 30x2x0.5 m 13.702
318003000 |2 P54 m 3.733
318003010 | = piy 432 1 FiJ o0 bR st SF- 4 2% 10mm? m 4.115

33




FE M oE & K Ok BB BAL | BRBIBEMN
318003020 |k iE b X 4a 2% T SABRY A 1118.837
318003030 | k4 100m 7t 24.624
318003040 |2 5217 7] 100A/2 A 35.581
318003050 |47 % 7] 30A/3 A 26.464
318003060 |27 J) 380V/200A A 45.985
318003070 | {5 Hi4k m 2.656
318003080 |ifi {7 F.45 HPYV-ZR 10%x2%0.5 m 2.691
318003090 (i {7 H48 HPYV-ZR10x2x0.5 m 3.522
318003100 | [7] 4 F 2% m 2.646
318003110 | [Al 4l HL 45 SYV-75-9 m 4.323
318003120 | [l 4% £ SFF-75-2 m 2.810
318003130 | [7] 4 S il LA SYV-75-5-1 m 1.888
318003140 | [AlfH AL AT B 48 SYV-75-3 m 1.350
318003150 |44 & i 45 S 4k m 5.395
318003160 |4t 54 50 2.4 £ 2% FL 2% 16mm” m 10.253
318003170 |4 th 2 2% 5 2% m 5.055
318003180 |4 x4 £ 2x1.0mm? m 1.141
318003190 [ it 5k} 4 1 5 2 0.4mm? m 0.558
318003200 | 4t 58k} £ M i 2% 0.5mm? m 0.729
318003210 |45 5 kLB il 1 £k 2:51.5mm’ m 2.765
318003220 |4t 54} £ 2% 500V 1.5mm’ m 1.089
318003230 | 4t ki £ 500V 10mm? m 3.846
318003240 |4t 54} £ 2% 500V 2.5mm’ m 1.087
318003250 | 4t 3k} i 2% 500V1.5mm? m 1.332
318003260 | 4 4% 98 b} £ m 1.147
318003270 | 4t k} 2% 1:50.2mm? (L) m 0.177
318003280 |4t 4} £ 2::0.5mm’ m 0.701
318003290 |4 ¥ ksl 28 3%2.5mm? m 0.547
318003300 |4t %} £k 500V 10mm” m 5.365
318003310 |4t 5k} 2% 500V 120mm? m 54.427
318003320 |4t 8} £k 500V 70mm” m 34.442
318003330 [t 2k} £ 500V 1mm” m 0.558
318003340 | X £&-#A F 2 2% m 3.423
318003352 | R 4F 3:t: m 55.717
318003354 | B 4T 4it: m 68.575
318003356 | 4F 5it: m 77.146
318003360 | 4 10m#3k vizs 141.565
318003370 | E4F 10m*k Ui 168.265
318003380 | AL He 442551 25m R 10574.332
318003390 | 441451 £ 196.123
318003400 |24 m 1.764
318003410 |14 #1247 63 m? 27.469
318003420 |44 iz 4 44 2% BX500V 1.5mm’ m 0.459
318003430 |#4 7 4524 2% BX500V 2.5mm’ m 1.420
318003440 [} iz #4145 £k BX500V 4mm® m 1.155
318003450 |44 i 45 %% BX500V 6mm’ m 1.694
318003460 |15 42k 278 1.5mm? m 3.357
318003470 | p £ 128 2385 2.5mm? m 4786
318003480 |15 H 45 m 18.603
318003490 |2 kit H2 28 1x50mm? m 53.551

34




FE M oE & K Ok BB BAL | BRBIBEMN
318003500 |44 F:4k CTAL20 m 43.489
318003510 | figii : 28 95mm? kg 36.711
318003520 |74 £: £k TJ-120mm’ m 52.744
318003530 | {5 B FF-2% A 28.493
318003540 | & B 15 H 28.493
318003550 | 3¢ #4145+ 45%48-M10 % 5.734
318003560 | % F: 4% 1 A 140.699
318003570 | ¢ 37 144 95mm? m 46.370
318003580 | Hh 004 45 A e = 271.695
318003590 | FH#A L /7 HE R m 11.863
318003600 | B 14 %} 2 Bt i 2% 2x23%0.15mm” m 4.546
318003610 [ #4154k 2x32/0.2mm? m 1.542
318003620 || 184 2 it 28 2x0.3mm? m 0.741
318003630 |51 14 XU 25 B i 1 4 2x7/0.67+7/0.3 2.5mm’ m 20.642
318003640 [ b 1o 45 28 kel i 2k 16mm” m 9.575
318003650 [ 5 14 4% 2 kst i 2% 2.5mm? m 1.612
318003660 | 14 45 ¥ kL i 2% 500V 0.75mm? m 0.446
318003670 [ o4 K 2k 500V 1.5mm’ m 0.729
318003680 | [ 14 5 28k} 8k 2% 500V 4mm? m 2.740
318003690 | B 1ok 4 A% 3 £ 2k 6mm’ m 3.814
318003700 | [ k2 m 3.006
318003710 [pH 8k 2k 250v4mm? m 3.405
318003720 |FH Lk CVZ-S-1.0 m 3.358
318003730 |FH#AME 5 2k m 18.015
318003740 | FH#A(E 5 H14% 500V30:: m 15.519
318003750 | FHHAME 5 B HI 4k 250V 3% m 3.581
318003760 | B 1A% e HLC 25 FEL 45 16%F 0.75mm” m 10.530
318003770 | Bk 5 WL 25 FE. 45 24%F 0.75mm’ m 18.822

+Ju. HTRARBT
319000020 | (44T 76 100W R 1.041
319000150 | & & 7423k DT-10mm? A 1.279
319000170 | H il 4 R 2.509
319000250 | i 5 itk 1 4 = 1 = 0.194
319000270 | 485 #1442 2 16mm” kg 59.896
319000300 | 44 2 4% kg 6.351
319000380 |44k -F T ©10~20 A 1.084
319000420 |[# 5 k-1 3x80 = 1.443
319000460 | i A £k 5 A 0.494
319000470 |Hzith = 1 (47 & A 2.201
319000630 | 4843228 34 95mm? A 4.984
319000790 |44 4L 3t T~ DT-10mm? A 1.412
319000800 |44 4k 3t F DT-16mm> A 3.931
319000830 |44 4% 3t T~ DT-50mm? A 4.234
319000850 |44 4k 3t ¥ DT-95mm> A 6.439
319000860 |4 4% 3t 7 DT-120mm’ A 13.681
319000870 |44 4k 3+ DT-150mm? £ 15.905
319000880 |4 4 3t 7 DT-185mm’ A 16.540
319001300 | o 45 3t v 3 125 2 = 229.999
319001310 |45 1o 3 F i 4228 % GXIL32(A)-2006 = 226.433
319001320 |18%% i Tk A 12.349

35




FF 5 M oE & K Ok BB BAL | BRBIBEMN
319001330 |45 442 1ok v, a2k 5 = 226.433
319001340 5078 XL F-ER I 28 % = 19.813
319001350 5074 XX E-HEH 2% % G5 19.813
319001360 | BRIk E fir 4 3% GXIL02(B)-99 £ 312.014
319001370 |D2% A & RELE G5 139.069
319001380 | D3 Hi#EF 4 % GJLO5(D3)-98 £ 77.856
319001390 [DT#: T 150mm? = 21.877
319001400 [pT3 7 300mm> £ 21.877
319001410 [T1507 242k G5 154.786
319001420 | T#Y £ i 2k 9 GIL27 (T120)-98 s 361.548
319001430 | {5 £ A 6.060
319001440 |25 £ 4246 A 415.499
319001450 | 35 %2(4.4/440) & 113.151
319001460 |4 7 XL H-HAHZ £k = £ 30.742
319001470 | 512 HaL 45 T 42 850%480 H 163.194
319001480 | 7 H 1 F %2  & A 22.936
319001490 [4] H. £ 58.452
319001500 [4T A 4 58.452
319001510 4T B 4W = 58.452
319001520 |47 B i & A 0.975
319001530 [T B AT -T- A 0.975
319001540 |47 E Bk £ 12.469
319001550 (4T A 7.180
319001560 |4 #: ©12x100 e 3.431
319001570 | Hh 28 X ] T 6 J G5 92.720
319001580 |t 2% i 72 B F 84.808
319001590 |48 4k G5 29.736
319001600 | Hh 2R %% A 30.839
319001610 |Hh £k T 4 i Ja G5 92.720
319001620 | #h 25 2% e %= 186.128
319001630 |2k 2k e 1207 = 214.356
319001640 |44k CIL44-98 £ 379.014
319001650 | £k £k 2 FEAR G5 17.643
319001660 | th £k £ 1 4 iy A £z 565.981
319001670 | 47 15 i 2 7 & 380.825
319001680 | H 454145 ®3007%! £ 4.799
319001690 | F 25 il 52 4 = 91.510
319001700 | H1 45 i 72 #2k LGQ-339A A 124.036
319001710 | F 45 [H & < A 4.287
319001720 | H 245 [ 52 £ 4.287
319001730 | A4 il 52+ A A 7.057
319001740 | H 45 [H £ 34 £ 5.822
319001750 | F 452 e & 1764.251
319001760 | e 45 43 3k A 44521
319001770 | B34 4% 3k N-J104 A 39.140
319001780 | 14 -K4 25 A 1.526
319001790 | H14i K44 55 A 1.048
319001800 | H 4 K44 65 A 1.219
319001810 | B4 K34 A 1.764
319001820 [ Hu 45 HiAL 48 (5 4h 7 4) A 813.020

36




FE M oE & K Ok BB BAL | BRBIBEMN
319001830 | H1 4 1A 42 ft A 2.646
319001840 | H. 45 N fL 1 & 24738 H = 74.981
319001850 | A Zfh 48 m 105.855
319001860 | 145 FE R (= £2) e 10.585
319001870 | FATFLLE () = 4.817
319001880 | HAEFESE(L) %= 4.817
319001890 | H1 45 15 &4 £ K i = 4.852
319001900 | H1 45 37 4 4 £ 180.483
319001910 | A4 %7 48 = 20.836
319001920 | H1 45 ¥ B+ £ 127.909
319001930 | Hi e 2k [H & - 4 AR %= 38.155
319001940 | vy B4 [F 5 4% BAY £ 39.670
319001950 | F i £k 52 D17 = 77.856
319001960 | Hi i 24k e D27 = 77.856
319001970 | 1454k ¢ D37 = 188.100
319001980 | Hy 4z 4k = GDCL177Y £ 24.682
319001990 | Hi[H £ RB A 816.477
319002000 | /) % £k 3 ES 128.464
319002010 | 53 fr 32k 52 = 53.488
319002020 | 5z {745 5 £ 71.139
319002030 | FE 8 H14i~ T 2x35 A 0.829
319002040 |47 A 4.058
319002050 | ¥ F-H A1-10x2 B 14.286
319002060 | s~k 254 fHBE4T A 63.681
319002070 |7 B/ 4 A 5.293
319002080 | I % 2% 2 24 JE B 4.411
319002090 | W i 2 iy 3 28 A 3.970
319002100 | 754 ek 245 [ 5oz $a 45 £ 133.720
319002110 |75 [ B 4 & HF-4 A 214.983
319002120 | J5 [l L85 & HF-7 A 354.817
319002130 | 5 Ji& A B 4T ©140x5000 R 529.275
319002140 | B Ji& A B8 4T ©140x6000 R 608.667
319002150 |5 7 &z 54T £ 1594.152
319002160 | 432k it - Pl £k 47 fin A 0.441
319002170 |43 £k 1% % 11K B 28.228
319002180 |43k 44 A 294.630
319002190 | {4 [ 53 1 A 17.643
319002200 | F4 iy v % 125 5% 457 £z 226.433
319002210 | 264 Ha % 332 R 155.254
319002220 | Ha 45 e Sk S BC A 15 %= 291.101
319002230 [ 454 %& m 16.637
319002240 | Yo 833k & 125 £ 55.717
319002241 | 445 k& 2435 = 60.003
319002242 |45 B2k £ 365 = 62.574
319002243 | Je i3k & 4831 = 77.146
319002244 |45 B2k £ 605 = 81.432
319002245 |t 445 k& 72i% = 84.004
319002246 |25 B2k £ 8405 = 87.433
319002247 | 445 k& 96 = 90.004
319002248 |45 Hzk £ 1208 £ 98.576

37




FE IR BAL | BRBIBEMN
319002250 |2 £k &1 2005 %= 394,304
319002260 | ;2 £t £ 2435 = 453.739
319002270 |2 4k & 28305 = 490.039
319002280 | .4 £ & 485 = 526.338
319002282 | 2 4 ik &1 6005 = 582.883
319002284 | -2 s & 7255 z= 685.745
319002290 |2 4k &1 9605 = 818.012
319002300 | [= 43 T A Ik 1~ 2o A 1841 gl 12937.842
319002310 | [7] 47 2070 25 i T4 2 M 6L, il 11467.632
319002320 | [a] 47 280 28 sty -4 A4 3 12078.522
319002330 |yt Hk HLZEH 48 e GXIL04-99 B 44.106
319002340 [y HE A ca &5 2k ¢ GXJIL05-99 £ 44.106
319002350 | #2544 A 299.473
319002360 | 42 b 2k i) i T i e 285 S B GXJL21-99 =S 88.689
319002370 | 4 7 b £ 5% 1] - i 22 2% JiC Ji2 GXJIL16-99 5 88.689
319002380 | 473 i £ 5 % 3507 = 186.870
319002390 | #fi £k [ & Je i 5007 F 88.866
319002400 | £z A £k [ & Je ik 5024 iz 9.183
319002410 | B fi £k [ 52 Je ik 7507 F 142.146
319002420 | Bz fili £k J2 A 100054 las 180.915
319002430 | Bfili£k Je . 500F 7! F 112.612
319002440 |4 fih £k Je iRk 50024 las 95.270
319002450 |z fii 2% Jete 502 F 10.145
319002460 |42 2 o st [ 52 £ 1 A 136.730
319002470 | B fi 2 v 2 5k 1= 240.221
319002480 | #: ik F A 1.588
319002490 | Bz Hh i 117 B 52.928
319002500 |43 T 16 = 1.959
319002510 |#:4k T DTG16 A 2.338
319002520 |43 7 @4 £ 1.606
319002530 |#:4k 3k ©6 = 1.959
319002540 |4k & A 1.809
319002550 |#:4k £t A 608.667
319002560 | B2k itk 25H] 2% % 13.046
319002570 | 12204 2 2 48 = 76.274
319002580 | FF = £ 4 A 263.350
319002590 | FF 4 2k bt = 52.928
319002600 | A 45 K [ A 13.099
319002610 |5l & FH R e 7 i 2 A 138.441
319002620 |+ £ 44 =] 17.643
319002630 | Fir £ 44T = 46.576
319002640 | 7 £ XA FF %= 110.542
319002650 | $7.£8 TIAR = 84.690
319002660 |74 4 =X H 25 Hh 1122 5k A 1614.290
319002670 |4 45 = Hi 85 & i 3k A 402.250
319002680 |4 itk 7 ©1007L A 1.941
319002690 |4 £ 3k 061 A 1.367
319002700 |4 & 3 F @87L A 1.632
319002710 |4 Bz ki sk RJ45 A 5.892
319002720 |4 J: 4% 1 35mm° % ] A 7.818

38




FE M oE & K Ok BB BAL | BRBIBEMN
319002730 | S i T4 246 g 31.201
319002740 | 25 P B 2k 73 & A 19.848
319002750 | I 45 [H & & LGQ-339A A 365.288
319002760 |45 £ i 51 %k TZ-01 A 174.238
319002770 |8 & i 61 %% TZ-10 A 99.460
319002780 |45 Z ik L16Q-J104 A 40.119
319002790 |4 £ 3% )i L16Q-50K339 A 205.448
319002800 |45 4 4= B H% ©110%600 e 65.983
319002810 |fAA & AT 15 S HIM XSL-A2BEE — WoR & 842.438
319002820 |34 & (0 )T 15 S MM XSL-A3EM = BoR & 759.218
319002830 |fHA & 0T 15 S HIM XSL-G2mikt — ion & 988.652
319002840 |#84 4 4T 12 5 WM XSL-G3@mH: = iR = 1834.369
319002850 | 4 4k 448 [F] 5 48 % = 192.127
319002860 |4 & i [ 2 £ 52 % 22.318
319002870 | 444 Hi T 4 H4: & HDM-T = 57.339
319002880 | RE£EAH F Py AL 1P40 m 10.938
319002890 | i 74 = MUT-3 = 27.946
319002900 | fiif 7k £& & NUT-3%4 = 84.244
319002910 | J& frgk -k H 0.327
319002920 | AL 4k A HL 45 S 4 R 3R A 0.265
319002930 (@ 4T ¥ A 1.948
319002940 |38 i 2k 04T A 0.975
319002950 | #vif £ 1= £k 11 (300x 100) m 105.855
319002960 | #45 = E 205 o 1) 43k A 198.479
319002970 | #h4i 2\, HL 25 2 oy Sk A 126.144
319002980 | 35 e 14 £ it 7 A 1.367
319002990 | (44T {5 S HLAEEERR T 11m m 412.722
319003000 | 44T {5 SHLEEERL T 8.5m an 339.830
319003010 | 44T {5 S5 H1H XSCrRikE — BIR & 825.930
319003020 | 44T {5 S WK XSGEik: = iR & 1033.480
319003030 | 44T {5 T HIMIXSARETY — IR & 440.207
319003040 | 44T {5 5 HIMIXSARE = 75 & 598.086
319003050 | |- i 1 150mm? s 30.875
319003060 | |- g3 300mm? e 30.875
319003070 | 75 Y 4554T Ji £ 1.948
319003080 | )\ k3 43 e i gl 8339.403
319003090 | 77 £ B}z ©150x1500 i 0.609
319003100 | 14514 £k ok 7 A 19.407
319003110 | Z= Py IRy £k & A 132.319
319003120 | = py 42k & H 164.076
319003130 | % #h3 £ WF-1 305} H 152.457
319003140 | =AM G444 M 0 1.059
319003150 | =AM i T Mt 44 A 1.059
319003160 | X2 HL. 45 i1 42 850%910 H 15.420
319003170 | X 77 2% i [ £k 92 = 151.373
319003180 | 4 H1 4 %5 4 1000x210%45 e 18.604
319003190 | ¥ 53 7.4k 52 = 191.157
319003200 | H- B 28 %= 56.163
319003210 | W H-AR £k 5 5070 = 19.813
319003220 | W H-#2 £ 5 707 %= 19.813

39




FE M oE & K Ok BB BAL | BRBIBEMN
319003230 | W H-AL IR 25 e x4 5 30.742
319003240 |3y L 47 £k it T DT-185mm’ F 50.695
319003250 | 3y 7 4 £k B2k 3% 7 DT-150mm’ s 44,503
319003260 |45 L #2 A £ H Lo i 25 28 9k £ 267.441
319003270 | TR £k £k £k 52 = 53.316
319003280 | XW £k 37 43 £k 5= = 260.309
319003290 | #8122k £ 86HS A 1.809
319003300 | ¥ f} 5 4 m 7.939
319003310 | ¥} 2 il — 2 m 1.764
319003320 | k%t Py Hh 2k 2k 5k £ 23.288
319003330 | ki Py HL S [ 2 = 4.852
319003340 | k%t Py ik 2k 28 5k £ 77.627
319003350 | Fi% Py X FL 25 1] 7 e i = 27.636
319003360 |k 2k 4n A 529.275
319003370 | Bk 4k 5 4 = 173.836
319003380 |k k& o% A 13.232
319003390 |2k {55 4T TX12-25/25A A 7.755
319003400 |43 ¥ 10mm> A 4.457
319003410 |43 6mm? A 2.853
319003420 |42k it - A 4.225
319003430 | 424k i 1 = 19.112
319003440 |4k i 100A A 6.749
319003450 | 4 f:£k i1 150A A 7.542
319003460 |4k i 200A A 8.256
319003470 |4 f:£k i1 250A A 9.156
319003480 |44k ik 7 50A A 4.225
319003490 |4k i1 75A A 5.195
319003500 |44 2k 3t ¥ DT-95mm> £ 8.868
319003510 | 4] 44 a1yt B2 HE = 189.216
319003520 | 42 #2241 2 6mm? m 7.132
319003530 |#2JEfrk 2k 9 LX-3 %= 26.147
319003540 |37 74 25 A4 (I 58 & 11996.908
319003550 | {5 S HLFL4E A 529.275
319003560 | {5 54 40 o 4.386
319003570 | 25 H b4l H 20288.888
319003580 | %% 4T I 4 m 1.922
319003590 | 7% 4T & 15W % 14.834
319003600 |7 4T & 20W % 17.048
319003610 | 7% 4T & 30W % 18.598
319003620 | ¢ ;4T & 32W % 32.574
319003630 | 7% 4T & 40W % 32.476
319003640 | i HL 16 52 i H 46 1R 28 BZD-A = 559.034
319003650 | Byt Hi A% H i YRS R 2% BGD-A G 613.617
319003660 | B 04 i 25 e % 43 £ 116.440
319003670 | B x4 i £ M e 46 e = 177.402
319003680 | FL A% i 2k F L LR (T2) = 177.402
319003690 | 0okl 4 £k = 44.106
319003700 | & s B 45 & HZ-12 A 100.650
319003710 | 2 Wi & HZ-24 A 161.441
319003720 |42k I T120%Y £ 154.786

40




FF 5 M oE & K Ok BB BAL | BRBIBEMN
319003730 | #4ik J T150% = 124.775
319003740 |42k & J Bl 2k 1 £ 158.783
319003750 | FHMAE 23k (#2 2 B a%) A 0.335
319003760 | FHMAE HSKFST (H S brik) 0 0.520
319003770 |FHER A A ©50 m 7.269
319003780 | [k ¥ e} 5 m 5.055
319003790 |FHEARL 5 A 44 k) LA AL m 32.462
319003800 | £H & Z2fiul i B £k 4 & 50%35 m 13.372
319003810 | A& 4T 4T 1 A 2.923

A= UBEAEE
321000240 [k 0423 S /K28 (15m) = 536.805
321000500 | 254711 H 792.332
321000510 | i = i oe = 246.503
321000520 | #11 $1 4% 2 k42 & 1399.257
321000530 | f& HLA7 4% KKG-3C & 433.142
321000540 |75t 4 W A8 i A 220.093
321000550 | /1 AKHEA (— IR TESN) = 3169.326
321000560 | FLF& 7K £ - A 440.184
321000570 | Z44% 11 = 264.111
321000580 | 24441} H 264.111
321000590 | = Al # 1t A 792.332
321000600 | i 4 A 26.411
321000610 |+ £ i} H 396.166
321000620 |14 ¥k it & 416.415
321000630 | ¥ #7845 1 A 396.166
321000640 | Jk Kk 500V/1000MQ = 397.460
—+=. Heme
322000030 | GRCP 4 3t 3 41 4 25 .00 32 5 % 4R 5=6¢m m? 39.619
322000040 |GRC i hir 3 £T 4 25 0o 42 B A 5=9cm m? 48.422
322000100 |UZY ¥ [i] 5E 5% <32 A 1.822
322000105 |34 7 FF 9.000
322000120 |22 4 m? 11.621
322000140 | (5447 m 3.962
322000352 | 35 335 4F 24 ik 4% A m? 10.585
322000470 | 545 4% 80 K 0.855
322000480 |4y m? 1.706
322000490 | Zi4% I 1.706
322000510 | %53 kg 5.983
322000600 |#] EN4%13247(381-1) (@ 54.914
322000640 | & k% m 3.600
322000670 (i iz A 4,837
322000680 | kW-h 0.444
322000730 | F A5 FTHR (W £E) B 9.880
322000740 | B 57 A 1.800
322000830 |12 fn A 0.617
322001000 | 53 ENHL I 45 (A4) 1, 18.387
322001100 | %% 5" K 1.408
322001110 A& B4 %= 167.270
322001120 |#: ¥4 D33/D40 m 6.618
322001310 |k & A 1.800

41




FF 5 M oE & K Ok BB BAL | BRBIBEMN
322001330 | Lyt 57~7* kg 10.698
322001400 | £ 5 kg 0.538
322001730 | jpr4% m? 5.986
322001740 |jpr4% % 9.977
322001760 | k44 kg 15.364
322001780 |jpk £~ kg 16.461
322001800 |l 3 2.201
322001820 |4 kg 0.292
322001850 |2 H M m? 2.170
322001890 |ffi&bs kg 7.043
322001900 | #5344 kg 14.086
322001930 | &l e A e e ds 4 = 167.270
322001960 | /2 JiliE A 2.641
322002040 | B HL 5 R 0.081
322002050 | /& Jp 3L L=100~150 i 0.081
322002120 |t 4T ENHL £ & 105.644
322002150 | it 52 A 19.809
322002180 | A kg 3.521
322002210 |35 9907 kg 7.009
322002310 | #h5 ENFT EP MBS 7 % 14.808
322002320 |#dek EN4T ERHL 40 (ZE, 4K) % 24.650
322002400 |/ A ik 0.266
322002410 |ib#s I 6.857
322002420 |#b# }i ©100 I 3.979
322002453 | b4} @400 Fr 13.206
322002630 |k m3 3.573
322002820 | ki A ik 1.149
322002850 | it flg it kg 15.878
322002950 | 45 B ¢3.5mm(Zi & R 0.418
322002960 | bk kg 5.282
322002970 | & Hiith 24AH B 520.454
322003080 |3t 7% kg 1.588
322003170 |[4L4k & A 0.088
322003200 |%1-4T 45 & 5.128
322003350 |43k @3 A 1.761
322003390 | ¥} HE K AR m 1.906
322003600 | #i4f kg 4,988
322003640 |k kg 0.003
322003650 |+ T #5 m? 7.043
322003660 | - T #% i m? 11.445
322004000 |30 i ] 309.890
322004010 357! Lo JEER s 2.624
322004020 |ATP/ATO 4 3 B 26 ME £ S JE4 AL 48 (75 1 P A1F) = 1390.691
322004030 | AT 3 B8 113 22 52 I HE GXIL11(A)-99 £ 5.872
322004040 (AR HL T BEAR it 131.615
322004050 | AZIC I HE [ 5 AR F 23.242
322004060 | ARSI HEA LHE 25 N HEECHE GXILO7(A)-99 5 76.666
322004070 | B L FEAR iz 30.989
322004080 |B AL HER i AR it 32.926
322004090 |C 4 iz m 11.445

42




FF 5 M oE & K Ok BB BAL | BRBIBEMN
322004100 |CDKN 2 /% Py 444 A 7042.947
322004110 D1 ALK s 35.302
322004120 | D27 XUBEAR = 37.988
322004130 |DDCQY B4 & 4 2 4 A 86276.097
322004140 |DI# %% 18 A 5.987
322004150 (DY FAH S = 50.744
322004160 |FAY B 45 [# 72 42 GXIL11(A)-99 = 48.420
322004170 |GZY JEBER = 53.488
322004180 | 1171374 ©6x1700 = 196.322
322004190 |17 37K ©6x1700 % 103.410
322004200 |LEDfE 5 HLAE RS T 11m B 396.166
322004210 |LEDAE S HLEEE: B+ 8.5m I 352.147
322004220 |LEU ¥ # 22 35 S 40 23 61.626
322004230 |OBO 75 #.5t V20-C/2 A 747.178
322004240 |OBOW; & &1 7T V20-Cl4 A 756.598
322004250 |PE kR m? 8.698
322004260 |PG 7 73 FF m 21.129
322004270 |PVCHE &G SR (B & 4) m? 158.466
322004280 |SHE[H & 1 A 13.206
322004290 |SH K1 A 7.747
322004300 | T1H! =358R = 40.119
322004310 | TAL 23k (4 S B #A ) A 3.698
322004320 |UJE-Hu i A 28.339
322004330 | 060 % 5E 73 D60 =S 67.947
322004340 |2z 4/ fin A 107.405
322004350 | (5 £ it kg 4.216
322004360 | [145:48 kg 6.534
322004370 |44 4x250 R 1.365
322004380 4577 4x300 % 3.528
322004390 | 4r L4 R 1.079
322004400 |46 4L77 150%4 i 1.079
322004410 | 464175 2504 I 1.079
322004420 |484L 77 300%4 i 1.103
322004430 | {5418 £ 11.589
322004440 | {5471 Pl 2% = 31.323
322004450 (414 £ 365.056
322004460 |5 R U HufE ] 3.962
322004470 | &L =01k 7K m 46.446
322004480 |55 2874 4 = 192.112
322004490 |31 /4t H 230x1600 Ji] o 174.728
322004500 |47 4148 % 0.664
322004510 |4 414% H 0.664
322004520 |4 23 4% 800x400 A 0.852
322004530 |47 45 A 4.252
322004540 | K25 4% (5051 /45) PN 22.009
322004550 | f7: 775 it A 5.669
322004560 | 17 & pin A 0.265
322004570 |47 & pi 7 A (2 JEAE) A 264.638
322004580 |54t 530x1600 ] 267.441
322004590 |y 545 e 5 30 B (B 4 k) £ 110.052

43




FE M oE & K Ok BB BAL | BRBIBEMN
322004600 |34 S5k & = 44.019
322004610 | kg 4.877
322004620 | /EHLI & 334.540
322004630 |4t m 227.498
322004640 | #4745 K 0.855
322004650 |4y A 3.072
322004660 | Ei4% % 1.706
322004670 |4y H 1.586
322004680 | #i75 % 1.999
322004690 | {5 37 Ji B 86.276
322004700 | 573k G27Y = 142.320
322004710 | & A7 A 485 = 139.961
322004720 | 5 fr 3 = 95.608
322004730 |+ WHEHR ES 32.926
322004740 | F ML Lk m 2.624
322004750 | 444 AR m 77.472
322004760 | F- R FE 42 S17 A 8.188
322004770 | AR FESE S2! Ui 14.526
322004780 | F- R FE 42 S37H ¥ 21.129
322004790 | =3I 15 24 FC 48 SO B R (S 4 B 1) = 1408.589
322004800 | Z= 45 I AR 1 15 9 O 48 B e 2 WL 205 (5 Hn ) G5 1185.654
322004810 | #k = k2o s S 4n £ 962.786
322004820 | R4 R 2R 1R 45 L 28 S B B (B i e 1) G5 3120.141
322004830 | %3 i 4 H 506.379
322004840 |7 [ Tt 1 £ 35.215
322004850 |57 [ Tt H 176.074
322004860 | 5 it FilHE 1 £ 1320.552
322004870 | 7% #7722 JT150mm? m 47.082
322004880 | &4 4 T17 = 3039.463
322004890 | &4l s T27H £ 250.562
322004900 | &4 4 T3 = 252.146
322004910 |43k A 51.705
322004920 | piidhi sk @18 A 51.705
322004930 | ikl 3k ©22 A 57.945
322004940 | T B $% Hhf4 m 17.432
322004950 |3 i & A 0.969
322004960 |31 A 12.713
322004970 | %43k H % A 0.361
322004980 |fiz & 5.898
322004990 | fifi 45 (75 15 4H) & 334.540
322005000 | £ ©100 A 11.736
322005010 |4 3 B A 2.676
322005020 |#4 Bz 4 52 A 24.210
322005030 | kit 44 & 755.680
322005040 | & HLi% 248 D12 5 32.345
322005050 | H i 4% DY £ 50.744
322005060 | AR 15 42 [F & = T = 2518
322005070 | e fef 47 5| 137 [1] i 4k 95mm® 3.5m i 208.454
322005080 | 1 7F-i% 77 50kg 12 AT (JE#EE kL) A 71309.835
322005090 | 17T 3# #,50kg 12" AT (IR %kt H) A 112752.294

44




FF5 IR R BAL | BB
322005100 | ¢ 7F3% 7% 50kg 7* 4 112687.147
322005110 | & 7F3% %,50kg 9* 4 66628.916
322005120 | 2 5Fi #50kg 9* (VR %E 1K) H 116472.731
322005130 | & 5Fji 7;50kg 9" AT (It i) il 66071.644
322005140 | 5773 #750kg 9" AT(EEE+ kL) gl 88380.177
322005150 | 5T 7760kg 12" (JEE L) gl 198611.096
322005160 | #1734 760kg 127 (J 4k AL I AT B i 2) gl 89984.208
322005170 | ¢ 73 £, 60kg 127 (H& A ) 4 198611.096
322005180 | 1 T3 #760kg 12" AT (IR + 4L ) gl 177816.796
322005190 | #7734 % 60kg 9* il 98239.422
322005200 | 5. 7T 7,60kg 9* (I 1K1 ) il 163114.645
322005210 | #5514 #,60kg 9" (& A FK) H 163114.645
322005220 [ s 7T3% 760kg 9F AT (I +H ) il 120425.585
322005230 | 57T 7760kg 9"AT (JE#&E kL) gl 177816.796
322005240 | 8 i) 22 345 7 4 £ 30.813
322005250 | #1112 7L 1 5 2% (1 4 5+500) %t 25901.317
322005260 | 5] iy 2 784 3 P (i 4 54500 ) H 5634.357
322005270 | #1357 1 g £ 176.957
322005280 | #1%5 f M 2 = 1198.134
322005290 | 314 i 47 42 £ 6338.652
322005300 | #1455 52 A 522.939
322005310 | 1 &g i £ 96.841
322005320 | #1125 )5 A 22.009
322005330 |1 % i £ 205.038
322005340 | 5: i iF =] 70.429
322005350 | 5: 1 kg 219.828
322005360 | 5114 ) kg 82.755
322005370 | 5 e B = 2.465
322005380 |5 Jk £ 120s/m m 3.600
322005390 | 537 B2 47 kg 22.889
322005400 |1 7 kb % B2 H 116.209
322005410 |5 7y #4248 TXP95MmM? 0.9m Uiss 52.822
322005420 |3 77 #4954 TXP95mm? 1.3m R 68.669
322005430 |5 7y 448 TXP95MmM? 2.0m R 105.644
322005440 |3 77 4% 4 TXRI5mMm’ 1.5m R 79.234
322005450 | Hh 25 1 5 A R 211.192
322005460 | i 2 7 2 48 22 4k < 4 A 81.766
322005470 | Ha 2 e fit A 0.529
322005480 | F 4 A 7 A 6.101
322005490 | B 45 b % FIE K Jri T A 0.194
322005500 | F 45 bt 120x120%x1200 R 11.638
322005510 | Hi % e A 19.368
322005520 | I3 4 5t % 93.604
322005530 | 1 4F R 2.465
322005540 | i3 42 L25%25 £ 96.841
322005550 | ) 22 &5 J4 £ 89.147
322005560 | 1) 2% Jec JiE T £ 89.147
322005570 | A XA BB F R R ® 154.945
322005580 | 73 A4 WU Bl i e = 154.945
322005590 |34k L27-J114 A 223.878

45




FF 5 M oE & K Ok BB BAL | BRBIBEMN
322005600 | 4HJE L27Q-K338A A 223.878
322005610 |ifAH ) L27Q-K339A A 223.878
322005620 | i1t e FE4E A 234.456
322005630 | T 3 A KT kg 11.101
322005640 | 53 447 = 222.867
322005650 | 5 17 14 2457 £ 222.867
322005660 | Eh7 3 ©34 %= 58.201
322005670 |5 h7 3 @60 £ 98.062
322005680 | 5 3 ¥+ 607! %= 126.148
322005690 | 52 42 £ 83.565
322005700 | & fiz. g8 CL2%! = 92.060
322005710 | 47 g% HL27Y £ 93.992
322005720 | 5E {7 £ L3AY = 83.565
322005730 | 5 i g LAY £ 83.565
322005740 | 5 1 B = 95.608
322005750 | 52 1 XUFE S48 = 95.608
322005760 | 53 37 22 i JiE = 104.526
322005770 |44 iy 4n £ 13.206
322005780 | P EEFERIELE 6)2 = 120.117
322005790 | i [ A& f a4 T17 £ 162.492
322005800 | /& #4FE 22 t 4842.026
322005810 | FLEf#F £ 49.209
322005820 | H-3F#F 1000x250%¢ G5 17.290
322005830 | & K/~ #LEDHL & 2200.921
322005840 | & - F o B4R & ML & 2200.921
322005850 | % % 35 1 Se 45k ML & 1931.141
322005860 | & -1t #eFE4e H 493.006
322005870 | B3 4% m 11.621
322005880 | [y 37 25 7 41 = 23.242
322005890 | [y # L ] J2 kg 237.700
322005900 | 57 & Fi ik ik = 185.468
322005910 | B e 2% 43kg A 12.343
322005920 |[3/7 /e %% 50kg A 13.716
322005930 |7/ 4 60kg A 15.794
322005940 |[9)5 &3¢ ## (Y k1) A 2.914
322005950 |[55 1& 3 ## () A 2.166
322005960 | By A smm/E & A+ % m? 264.111
322005970 | B fAE £ 2.641
322005980 | Bjj 4 7 2k Z 17 4x250 i) 1.365
322005990 | X, [ A 264.375
322006000 | 5544 % 2.729
322006010 | 4441k kg 4.789
322006020 |8 & Ar2% A 0.484
322006030 |7 ik 0.484
322006040 | 4 32 433 7:50kg 77 H 1141.080
322006050 |4 355 433 #50kg 9" 4 171444.690
322006060 | 45 #5431t 77 60kg 127 ([ 1 5l 72 B A3 PR A 415331.369
322006070 | 45 52 4338 #,60kg 12" (T 300l 2% B A4 IK) A 440184.167
322006080 |4 3445 4)i #60kg 9" H 184877.350
322006090 | 57 7,5z 433 #60kg 9" (B A1k ) H 215949.951

46




FE M oE & K Ok BB BAL | BRBIBEMN
322006100 | 247 m 11.445
322006110 [ %1% 075 A 10.388
322006120 | T Jaaki 1 THY = 64.186
322006130 |+ 3 A 28.973
322006140 | /33 4 m 125.893
322006150 |44 575 )3 7131 A 360.951
322006160 |2 [ fiz iy 2 s it A 92.966
322006170 | 1=y £ fes 6 ft %= 120.153
322006180 | g 25 FF =64 £ 83.283
322006190 | .1k & HEK 338.942
322006200 | [ 5 Jic Ji = 222.867
322006210 |[# 5 1% = 251.785
322006220 | [# 5 41 M16x80 = 1.356
322006230 | HIFCL (H52Fraig) A 2.130
322006240 | EREFCP (122 Friit) A 2.130
322006250 | HIFSA (H¢52Fraig) A 2.130
322006260 | 43¢ #4714 425 95mm” 10m Ui 664.233
322006270 | ¢ #1222k 95mm” 15m Ui 996.350
322006280 | %3¢ 8 [ 1% 4%:4% 95mm” 5m Ui 264.111
322006290 | ¥ (1[a]) 50kg. 60kg A 1.682
322006300 |2 it A 92.966
322006310 |2 {44575 42 234K 15W B 22.287
322006320 |5 fai47 74 # 2 B4R 5W ot 26.744
322006330 | & Al Bhukk (52 X £k 60kg 12" 5.0m) i 849300.135
322006340 | & i #Lkk50kg 12" (3 FFi& 7% ) 4 243193.829
322006350 | & i ki50kg 9F (B FFiE 725 ) 4 221085.138
322006360 | & i L kk60Kg 12" (3 FF i 7% ) 4 255455.599
322006370 | 4 i ki60kg 9F (B FFiE 725 F) 4 232232.363
322006380 | &4 T A kg 11.712
322006390 | B 452k % 58.104
322006400 |21 4ME N e sk J R 15 = 466.596
322006410 [$141, t 4401.842
322006420 |41423H 77 1% 2% 95mm” 0.9m Ui 48.728
322006430 |47+ £ 77 3% P4k 95mm” 1.5m Ui 81.214
322006440 |4 £:18 7Bk £k ©1.2x19 L=3000 i 12.272
322006450 |y zh = 4 5e A 10901.452
322006460 |14, 22412 M16x60 %= 111.434
322006470 [ Bk +- 7 b (52 X2k 60kg 127[A]#H 5.0m ) H 106115.699
322006480 |3kt +- b (52 X4k 60kg 12°[A] B 5.0m) R 190300.419
322006490 |38 sk +- 72 b (52 X2k 60kg 12°[A] HE 5.0m) H 192203.775
322006500 |68 5k +- 77 bk (5 X3 £:60kg 9°[A] B 5.0m) Uit 190300.419
322006510 |35 ¢ -+ 7 b (52 X J £k 60kg 9”11 #E 5.0m) gl 190300.419
322006520 [3eg sk +- b 22 X £k 60kg 127/l B 5.0m R 106115.699
322006530 |5 4t +- 7% bk 52 W £k 60kg 971l 2 5.0m Ui 167269.983
322006540 | R ¥t KAk IR I H = 140.859
322006550 | 7R %k KA 2 3m F04 = 105.644
322006560 |vE #E -3t A kL 4 G5 415.798
322006570 | JR e L 3t dE ke dn ok = 44.019
322006580 | 7R #E - H Ak R AR 144 G5 330.491
322006590 (R - FE b R 2L 4044 £ 330.491

47




FE M oE & K Ok BB BAL | BRBIBEMN
322006600 | VR4 1 bk H @ fF G5 70.429
322006610 | J& it 1= bk A 1k = 70.429
322006620 |JE B T 4 B i R I A %= 154.945
322006630 |5 Bl 11 4L A e I R I 4R B S e = 116.209
322006640 | HLH: F P E M T 8.5m g 352.147
322006650 | F K fiEs 24 A 17.607
322006660 | ke 7R il Ji JA = 77.472
322006670 | it R Hi4n £ 579.455
322006680 | ffise 3 & = 7020.317
322006690 | it % B 6207 £ 105.644
322006700 | THHHLE B O 4E & 11004.604
322006710 |vHEHLIRB 42 1 AE A 3414k (324r) 101 777.263
322006720 |1 52 b 2.905
322006730 | ik -2 5 37 4n £ 962.786
322006740 |2 3£ = 13.818
322006750 | 251 TIL36-96 =S 7.263
322006760 | Witz A R 356.588
322006770 | W51 52 iy 1 4 B A 44.459
322006780 | 8 F74% A 748.314
322006790 |z Y iEF £k 60kg 12" FH 5.0m (& HiLEL) A 998183.625
322006800 [z w £ 60kg 12° 1] 5.0m W5 - 7k 41 | 1094473.912
322006810 [z W 3 £:50kg 7% 5.0m 4 328512.085
322006820 | 5 W jfir £:50kg 9"/ f 5.0m sl 345692.472
322006830 |z Wy £k60kg 127 A #E 5.0m (JR%EL 2 Hk) il 1094473.912
322006840 | 1 W jfiF £:60kg 12" 8] £ 5.0m (BEAAIEK) A 1094473.912
322006850 [z 3 £5:60kg 9% 5.0m il 508200.544
322006860 [z 7 £k 60kg 9°1F) B 5.0m (JEHE T 4 HE) il 864592.133
322006870 | 52 Wi £ 60kg 9*[H] #5 5.0m (BEAIEIR) A 864592.133
322006880 | 1 W jfir £k60kg 9F I P 5.0m Yk 1 2 kL A 864592.133
322006890 |84 @2 A 6.161
322006900 | B47 1t F 0.880
322006910 |#fi#L 15m 2%-km 832.828
322006920 | Bz Hhf7 izt 17.607
322006930 |4z b HE3f A 220.796
322006940 | £z Hh ek B 543.796
322006950 | Bz Hb MK &R las 22.273
322006960 | £=RI4hsk ®110 R 148.342
322006970 | 4= M4t 2k @60 Ui 86.716
322006980 |4 W44k Sk ©50 i 71.310
322006990 |44 4h 4k Tk D18 i 22.009
322007000 | %[# ¢ ~50x5x100 = 6.770
322007010 | E[EHELE R % = 0.423
322007020 | 2 5 ekl A 660.277
322007030 |52k 42 A 133.720
322007040 |'% 4 32 5t A 110.926
322007050 |2k 42 5¢ R 88.037
322007060 | 3% 1.2mx1.0m F 5.976
322007070 |H: A FE2n £ 48.420
322007080 |H 2% A 318.157
322007090 |44 Uis 0.387

48




FE M oE & K Ok BB BAL | BRBIBEMN
322007100 |y, [0] 37 46 i = 203.365
322007110 |-E4h 42 A 26.411
322007120 |Ei{f 2ot & H 4.402
322007130 |Eftith A 176.074
322007140 | R4 R4 1002k He 180.475
322007150 | £ A kg 4.842
322007160 | £ A K ZEfE kg 6.647
322007170 [-£ ¥4tk m? 42.257
322007180 |3 1EFT R 205.135
322007190 | FF 4 a4 & 1646.289
322007200 | -3 Jic Ji A 184.868
322007210 |Fihhi 4 B 7 & A 196.763
322007220 | Hi/ph FiiHE 1 A 196.763
322007230 | i T4 £ 196.763
322007240 |7 7.0y B 718 7, 60kg 12° AT (JEE 1AL ) H 198611.096
322007250 |3 HiL BT LFU A 132.056
322007260 | i F B e HE4E A 38.244
322007270 |14 JT150mm? m 15.847
322007280 |5 £k FL AR FE I = 81.124
322007290 | i3 £ Fof i) " i JoS S 95.775
322007300 |4k 8 42 = 251.785
322007310 |2k N4l R S 95.775
322007320 | £k e e ik o = 300.206
322007330 |42k 37 48 ES 112.784
322007340 |4 FL44 Sk A 427.005
322007350 | i 1% A SL il A 70.429
322007360 |4z #73F A 4.402
322007370 | &% A 0.882
322007380 |4 %13 500mL/H mL 4.457
322007390 |44 B H=120 £z 11.815
322007400 | %38 kg 13.206
322007410 [ THMF A 8.980
322007420 |y} 2~7 m? 52.822
322007430 |54 4 LED(E S HIM XSL-A2B M — IR & 3803.808
322007440 | %7 & 4 LED{E S HLM XSL-ASRTY = IR = 5705.702
322007450 |#5 4 4 LED{E S 1M XSL-G2/EE — IR & 5705.702
322007460 | £54 £ LED{E S HLI4 XSL-G3 =it = on G 8640.815
322007470 |45 &4 LEDS| S5 5 ALK XSL-Y & 3512.670
322007480 |£A & 4= 34 35 % Wy m? 123.252
322007490 |48 & 4745 1R m? 158.466
322007500 |47 &4 1 N ST AR m? 158.466
322007510 |484 42617 m? 95.079
322007520 |5 & 451 B15 5P XSL-Y & 682.286
322007530 |43 #54R 5mm m? 27.292
322007540 | Fk 55 kg 1.085
322007550 |4 t 291.492
322007560 | |74 8 fics b 2L = 264.111
322007570 | 77142 4 13271.553
322007580 || TH: R fiss b AL = 264.111
322007590 (545 kg 8.918

49




FE M oE & K Ok BB BAL | BRBIBEMN
322007600 |#34p kg 7.043
322007610 |#itx £ 927.732
322007620 | AR itk 4%k} kg 0.519
322007630 | #48£% 2000x1000 B 1584.663
322007640 | JE fegm44% m 3.962
322007650 | B J:48 ®1.5 m 0.157
322007660 |4 BT AH 22 B T 40 = 31.505
322007670 | & 4246 m 232.417
322007680 | i £, I 4 = 500.049
322007690 | igiiE 4 kg 0.807
322007700 | VG AL ¥ 5t MU & 2584.762
322007710 | i@y 7 = m 30.989
322007720 | ¥ @ HEE AT D32 i 66.090
322007730 [ @ EFEAT ©34 i 70.157
322007740 | @ ELFEAT ©36 i 74.312
322007750 | iE L EEAT D38 i 78.459
322007760 | i 1144 = 211.288
322007770 | 5 A 0.635
322007780 | i m 179.155
322007790 |7 bk kg 7.471
322007800 |54} Tt 1 = 176.074
322007810 | %4k 300350 ik 1.235
322007820 |5k L H:#F Q-77 i 10.698
322007830 | #h 4 i M A 3.874
322007840 [#iisiie (R A1) A 44.899
322007850 | #H e (5 1]) A 72.190
322007860 |4 752 A 3.962
322007870 | % s fir g LY £ 222.778
322007880 | =By iEshHhAR 600x600 m? 193.681
322007890 | = F1 T H z= 40.119
322007900 | = TR T1 = 40.119
322007910 | = TR T2 £ 34.007
322007920 | = 5 & T Jic & 3007 = 201.026
322007930 | = ()& 43 48 %= 251.785
322007940 | = HE B il e A G5 9.147
322007950 | 445 20mmx20m % 7.114
322007960 | & )T {5 S HLEI N E BT A S th Ui 14.086
322007970 | 44T {5 S HLEI N ik I (BD) e 17.607
322007980 | #b#: ©100 5 5.430
322007990 b4 A A 9.684
322008000 |#b# F H 9.702
322008010 | - 4l Jes s C7H £z 436.099
322008020 | - 4 e i IR = 441.654
322008030 | s 5 422k FLB) % N L 4 9.420
322008040 | iR 4% 7k 1.937
322008050 |2 Py 44k H 42 47 pin A 2.646
322008060 |5 Py 414 44 A 2.646
322008070 | = py 4 & HEBn 42 A 2.646
322008080 | 2= A1 [ #4548 F Wr s 4% A 113.638
322008090 |2 4h 5 F 22 B 40 A 62.403

50




FF 5 M oE & K Ok BB BAL | BRBIBEMN
322008100 | i 1 i m? 40.057
322008110 | i ST {2k % 17.607
322008120 | F-BHENHA R HE GXZP2-03-1-1 = 125.575
322008130 | o1 T HE (BRI 1) kg 3.962
322008140 | X AF 3007 %= 16.234
322008150 | 3 FL4k D17 £ 7.685
322008160 | M FL4k D27 %= 7.685
322008170 | XL = 23.311
322008180 | WAk D17 = 39.960
322008190 | MUkt D27 £ 29.510
322008200 | WAk D3R £ 34.968
322008210 | W IpeAR DA £ 34.968
322008220 | W ik I JJAE 3004 £ 225.418
322008230 | Wi b e 3504 =S 495.568
322008240 | % i & T JiS JiE 3507 £ 461.471
322008250 | A 1] HHr £ 70 1 5 %% ({8 45 B2+1000) ot 33893.301
322008260 | % [15) FH 25 784 1 45 %% ({1 47 1:+500) ot 27114.464
322008270 | L [r) 1 4 25 S #¥ P ({1445 EE+1000) 4 4137.731
322008280 | 4 1] H1 2 714 3 44 P (7 4 #+500) H 4489.879
322008290 | 7K Y& M K AR B A1 m® 171.925
322008300 | /K 423 4 m 24.070
322008310 | I 4 ik A 52.822
322008320 |#£5¢ E 1h % 11.709
322008330 | ££4fE M12 A 12.858
322008340 | 24 M8 A 7.835
322008350 |24 M8 e 7.835
322008360 | F] ML il T B A B 2R SO B R R (S A1) = 1408.589
322008370 |8 J f ok 28 7 3 37 2 A 44.021
322008380 | 1 4% 3 385 b e m? 88.037
322008390 | # k| 4w 4148 600%x400 % 0.740
322008400 | ¥4} [ 75 52 A 9.684
322008410 |7 ik m? 44.019
322008420 | s T vd: m? 44.019
322008430 | F it oL 1 4 A 8.892
322008440 |45 5] 3.698
322008450 |41t %3 4 £ A 19.368
322008460 |4 Fi4E 2% R 1.939
322008470 | Bf: AR 145%40%2.5 e 0.449
322008480 | [ B 245%22x3 B 0.501
322008490 | R £kt t 6162.578
322008500 | 2k 42k £ 31 7 52 = 1875.185
322008510 |k 47 0F~2" ik 1.149
322008520 |4 Ba4K = 53.488
322008530 |4k DB-9 ] 9.714
322008540 |25 #7242 3100x120 i 1584.663
322008550 | i bt A 68.669
322008560 |fi & P1550% = 75.483
322008570 |f5i & P1600%! = 75.483
322008580 |fi & P1700%! = 75.483
322008590 |f5i & P1750% = 75.483

51




FE M oE & K Ok BB BAL | BRBIBEMN
322008600 | ik P1870% = 75.483
322008610 | fi % P23507% £ 125.012
322008620 | i & P2380%Y G5 125.012
322008630 | fi i P24007% £ 125.012
322008640 | i & P2450%! G5 125.012
322008650 | fi i P25507% £ 125.012
322008660 | ik P26007% = 125.012
322008670 | fi i P29507% £ 160.896
322008680 | ik P3350% = 180.396
322008690 | fi ' P35507% £ 180.396
322008700 | i X2450 = 125.012
322008710 | ik X2550 £ 125.012
322008720 | fi & i A GZXZP-2 = 561.077
322008730 | fpii & - Jes B2 3007 = 121.314
322008740 | i & e iz 35007 = 136.307
322008750 | fpii & - Jee Ji& 3507 = 198.963
322008760 | i & T Je< Ji& 3007 %= 115.768
322008770 | fi e &S JRE 3507 £ 473.004
322008780 | M 41 ] 564x1600 [ 158.466
322008790 | & A m? 4.408
322008800 | T4 4ii 400g/m? m? 4.877
322008810 | EHLIEH} kg 6.603
322008820 | T4k K4k ¥ 4m = 77.472
322008830 | Thid7 /5 Se 445 1= 31.201
322008840 | # f kg 11.621
322008850 | T 7K i Ji Jiz C 7Y S 246.600
322008860 | T 7 4 Je< J3 I8 £ 253.731
322008870 | T4 Ji £ 13.206
322008880 | |4~ 1ir i CIAY = 230.260
322008890 | &7 AR m 17.607
322008900 |4k 7 = 484.203
322008910 | £k S HLFT 7 € % 115.891
322008920 #4711 150nn A 0.326
322008930 | £ #1428 A 13205.525
322008940 | £ # #5) B m 11.621
322008950 |[R A7 42 A 88.037
322008960 | 14 % 48 H 232.417
322008970 |35 42 A 728.604
322008980 | /][5 Bk A 2.905
322008990 | 43} fji i X 15207 £ 112.784
322009000 | 43} i X 15407 = 112.784
322009010 | 4} fi % X 15507 £ 112.784
322009020 | &} EE X1640%! G5 112.784
322009030 | 43} fi e X 16707 £ 112.784
322009040 | R}piEE X1720%! G5 112.784
322009050 | 43} fiE X20207%! £ 112.793
322009060 | &} X2050 = 112.784
322009070 | 4} i X20607 % 112.784
322009080 | &} E X2080 = 112.784
322009090 | 43} fi i X2120% % 140.982

52




FE M oE & K Ok BB BAL | BRBIBEMN
322009100 | &}piEE X2140%! G5 140.982
322009110 | 4} X2220 = 140.859
322009120 | &} EE X2250%! G5 140.982
322009130 | 4} fi i X2270% = 140.982
322009140 | &}piE X2300 = 140.982
322009150 | 4} i X2700 z= 144.380
322009160 |02 JEFf 355 = 2.624
322009170 |02 JE3F 5054 i 2.624
322009180 |02 JEFf 507 = 2.624
322009190 | £ ffiE#e THY £ 202.363
322009200 (A4 i Ji iy A ST %= 178.294
322009210 | &k o i fa A it 408 e Ak S e ST £z 147.092
322009220 | e = 4.226
322009230 | £k A 3.874
322009240 | E#) 45%40 B 5.282
322009250 |47 45%40 = 5.282
322009260 | £ % 15 A 0.590
322009270 | £ % 32 A 0.713
322009280 |z [ P e 3k K B 15 = 290.522
322009290 | 2] B:{Z 2-HLH XSY & 401.122
322009300 | J3; 2 35 ZE Ak 2% T S A 962.786
322009310 | i 4 ES 17265.696
322009320 | fifi i 2 57 A 5 3604.228
322009330 | fifi i Jiz =S 361.936
322009340 |32 pk 22 kg 5.537
322009350 | B m? 2.210
322009360 |4 HliEk kg 1.321
322009370 |4 7L4E %1 6m R 1281.740
322009380 | 1 B HR kg 5.397
322009390 | Tt £ 35.215
322009400 | T B J% 374 %= 433,254
322009410 | H 7 =y 4= 42 A 10901.452
322009420 |4 {4 /7 8% = 60.033
322009430 | & A 2.905
322009440 |37 4% R 40128 = 322.215
322009450 | %7 #:42 3470 £ 92.713
322009460 | =7 41 Jic Ji A 19.368
322009470 | B4k @10 R 8.915
322009480 | B4k @12 A 8.915
322009490 | L4l @12 R 8.915
322009500 | B 4% 2k @16 R 10.698
322009510 | B fi%G sk ©7.5 A 8.023
322009520 | EL W4k ©7.5 R 8.023
322009530 | 4L 47 B A 12mm m? 9.297
322009540 | 4% fi&y 3t £ b B8 2 m? 0.458
322009550 | 1 ] 41147 50kg B 3.636
322009560 |1 0a4i 4 %= 308.129
322009570 | okl 45 & JFR A 200.971
322009580 | Ui 45 1A T i 22 34 i )2 GXJL20-99 B 200.724
322009590 | F Lo &5 B4 = 34.862

53




FE M oE & K Ok BB BAL | BRBIBEMN
322009600 | 0o 44 T 4tk i R %= 564.854
322009610 | & 4% 925/0.5 185mm? m 307.557
322009620 | 23t W14 £ HZ-6 PR £ a4 | — /N S mil = 88.037
322009630 | % i e 2 fit A 142.635
322009640 |BAE B 301.316
322009650 | BAREAT T17Y £ 90.038
322009660 | BA e [H 1 48 23 641.858
322009670 | BATE R i 28 T17 £ 997.458
322009680 | [ Zh 4738 #2411 A 704.295
322009690 |54 42 (K1) & 11006.083
322009700 |4 7] 37 i A 187.255
322009710 |1 kg 3.892
322009720 | =2k 48 m 299.325
322009730 |4 & HEZR 4R e g A 167.789
322009740 |41 & FH it 28 A 33.454
322009750 |44 4T m 50.181
322009760 |44 4T = 79.234
322009770 |43k A 8.804
322009780 |43k izt 9.332
322009790 |43k ©10 A 9.332
322009800 |43k ®12 A 7.307
322009810 |43k ©13 A 1.408
322009820 |43k ®19 A 2.113

—+=. BEifise
323001750 | &4 K% m 2.260
323001930 | A% Jii 7% £ 1 4 600 x600% 25 m? 202.485
323003500 | A Z 4240 Jp m 9.713
323003510 | A ZY AR AN S0 E EE 1 A 2.296
323003520 | A ZY 4240 i & e A 0.653
323003530 |FG I A+ RUEMR R 51 OthR m? 514.129
323003540 |FG IZ 5 &M EHEIR R 51 ks & m? 514.129
323003550 (U 385 4M o i A 0.486
323003560 |U%! 384240 ¥ o & m 2.472
323003570 | AN & & 4514 53 AR m? 158.625
323003580 | 4N E 44 B R m? 66.094
323003590 | AN & & A H R m? 66.094
323003600 | AN & £ 4514 234K m? 70.500
323003610 |3l 4 b7 35 (52 ) A 59.985
323003620 |45 A& &2 M I & m 9.360
323003630 |5 4 2k BB I A A 0.486
323003640 |44 Jv C75-1 m 2.976
323003650 | 444 i C75-2 m 5.916
323003660 | #:44 v C75-3 m 5.916
323003670 | 540 5B fa 6 A 22.075
323003680 | 24N 46 A 22.958
323003690 | 424M B 1% 2 f4H(U%L38) A 1.016
323003700 |52 4W o 3 £ A 22.958
323003710 | & & vk 4¢ ik 0.177
1. e
324000070 | 4 J JE 3 A4 ) o kg 4.842

54




FE M oE & K Ok BB BAL | BRBIBEMN
—+H. ERe

325000030 | 7 & VR #E 1= C10 m® 252.556
325000040 |7 fh iR %+ C15 m? 257.413
325000050 | 7 fh vk &+ C20 m? 262.270
325000060 |75 fh iR %+ C25 m? 276.841
325000070 |7 iR &t + C30 m? 291.411
325000090 | 7 vk 1= C40 m3 330.266
325000095 | 7 & VR #E 1= C50 m® 451.638
325000140 |3+ M) FLHE DM M5 t 203.473
325000150 | 3 R 5P DM M7.5 t 210.972
325000160 |3+ FLib DM M10 t 220.783
325000180 |38 T+ 57> 2 DM M20 t 267.516
325000260 | 3@ VR Hh i fP DS M20 t 251.449
325001400 | B 7K 7 f VR 8% 1= C20 m® 389.859
325001410 |7 7K 75 i VR % £ C30 m? 415.850
325001420 | b 2 7 R &t L+ AC-5 t 360.495
325001430 | F-#Epi Kb 1:2 t 342.894
325001560 | fiidE /K T iR #EE L C25 me 233.129

55




Fs AR AR B | BB

—. RESH

() FTEEEREL

201000110 |l %4 f2|C30-10-3 m? 188.887
201000130 | sl 45 2|C35-10-4 m? 221517
201000140 | T i 4 #|C40-10-4 m? 244.804
201000300 | Tl i 4 14:|C30-20-3 m? 180.208
201000320 | Fii | it 4 1| C35-20-4 m? 212.921
201000330 | T i 45 2| C40-20-4 m? 235,535

(Z) 1RABh IR B

Z. THEREI B BRI S T

202000140 [E@ P 5 P 1:2:6 me 608.281

=, WRDHEEEH
203000030 (/KBS ¥ 1:2 m? 337.099
203000040 |7k J8b ¥ 1:2.5 m3 310.891

M. BB REST
204000030 |7k Jefb 3| M5.0-S-3 m3 229.666
204000050 |7k Jefib | M7.5-S-3 me 237.982
204000070 |7k Jefb 3| M10-S-3 m3 247.819
204000090 |7k et | M15-S-3 m 264.190
204000108 |7k Je b 3| M30-S-4 m? 269.088
204000130 R AP | M5.0-H-3 me 222.654
204000150 [VE AP H| M7.5-H-3 m 235.349
204000170 [E-A 3| M10-H-3 m? 245,038

Fi. B2, REEMEH S KA
. HE

203000140 |2k e 2 m® 517.308
206000280 | g5 5 45 15k £1|C25-20-3 m? 287.211

56




